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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273013
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592750703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Some letters are numbered as 1, 2, 3. 4, 5 and 6. In the options, four possible arrangements of these numbers are given.

Choose the option so that the letters form a meaningful word.

MOLESD
1 23458
Options:

1. » 145623
2. % 623415
3. % 543216
4. v 543621

Question Number : 1 Question Id : 54592750703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fo JER 1 1, 2, 3, 4, 5 3T 6 FAF v 7w | Reredt #, 37 wEAmsdt & 9 wafaa swEEA” &
% ¥l 39 ReeT 7 999 FL I 3B TF F9F US54 Tl

MDLESD
1 23456

Options:

1. = 145623
2. = 623415
3. » 543216
4. v 543621

Question Number : 2 Question Id : 54592750704 Question Type: MCQ Option Shuffling: Yes
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A,

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = QNT
2. % IFL

3. = URX
4. v ZVD

Question Number : 2 Question Id : 54592750704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 97 fOhedl & &, diel Uk ARTd diles & A &
ETeliTeh, Teh Tdehed 37ed dlel hl aig ol &1 39 fdehed

Tl Y ST STehT T 3TeldT &l

Options:

1. = QNT
2. = |FL

3. = URX
4. v ZND

Question Number : 3 Question Id : 54592750705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Lion
2. = Bear
3. v Hen


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

B
4. = Dog

Question Number : 3 Question Id : 54592750705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v RFent & &, A v fAfeag s a ga= £
gTellloh, Ueh Tdehed 3ed dldd I i@ el &l 39 Ahed @
Tl L ST SThl & 37T &l

Options:

1. % 9N
2. « T
3. v it
4.*@

Question Number : 4 Question Id : 54592750706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

TCH : VA] 2 ROD 1 ?
Options:

1. v TMF
2. » RNG
3. = TNG
4. = TQF

Question Number : 4 Question Id : 54592750706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,
39 Thed T IS HL S diER U5 & 39T Yo & Fe1ad &
fore 9™ & gelm Ug gEY UE # He(A §

TCH : VAJ : ROD : ?

Options:

1. v TMF
2. * RNG
3. » TNG
4. = TQF

Question Number : 5 Question Id : 54592750707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If white is blue, blue is brown, brown is black and black is
red, then what is the colour of branches?

Options:

1. v Black
2. » Red

3. = Brown
4. = Blue

Question Number : 5 Question Id : 54592750707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Hhe aitell &, sitel 3T &, I SHTell § 3N Hlel ol &, o
ITET3T ST LT AT §7

Options:

1. v SRTeIT

2. = ollel
3.« a
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A,

Question Number : 6 Question Id : 54592750708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If LUCKY is coded as NWEMA, then what will PHONE be
coded as?

Options:

1. v RJQPG
2. » SKSQH
3. » PKSMH
4. = QIPOF

Question Number : 6 Question Id : 54592750708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg LUCKY & NWEMA & &7 H Hifsd Far Sar &, ar
PHONE =T @ sRIf2d T SITeen?

Options:

1. v RJQPG
2. = SKSQH
3. = PKSMH
4. = QIPOF

Question Number : 7 Question Id : 54592750709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sanjana 1s shorter than Urvashi, Nisha is taller then Sanjana,
Sudha is taller than Urvashi but shorter than Harshita,
Urvashi is taller than Nisha. Who is the tallest among all?

Options:

1. = Urvashi
2. v Harshita
3. * Sudha


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Ao
4. = Sanjana

Question Number : 7 Question Id : 54592750709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HoTell 3aeT & BT &, e dfe & o6l &, goar 340 & o&
& dfere e¥ar @ =T &, 390 e & o=y &1 3T @ A

e el Shid &7

Options:

1. = 3gefr
2. v gf¥ar
3. % gu
4. = Folall

Question Number : 8 Question Id : 54592750710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements :-
I. All BMWSs are Porsche.
I1. No Jeep is Porsche.

Conclusions :-
I. Some Jeeps are BMWs.
II. No Porsche 1s Jeep.

Options:

1. = Only Conclusion I follows.
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A,

2. v Only Conclusion II follows.
3. = Neither of the conclusion follows.
4, = Both conclusions I and II follows

Question Number : 8 Question Id : 54592750710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 70 e 31T fSohsl Y €37 & 9| Ig AT gu ED
AT H Ty IS ATdPRT T &, Hel &I d TTHACIT: AT dzal
F g1y [{=Ror gu femms 2 &, 39 Oy T Iae
ST 3RIT §dE @ W 3 FUeT HT dlfeheh T & 3E0T HY|

FTeT:-
. Tefr SoaAssey el &
I g ofr Sfra ovef a1dr &

ﬁ'l‘ﬁl?lfr:—
. FT ST SUHASSY Y

I, aﬁéqﬁ*@‘fsﬁtraﬁr%“l

Options:

% el TSRy | 3TEIOT FIAT
2. v el TSy || TTEIOT FIAT &
«» A5 A TSRy 37TEI0T FET FIAT
« forseh | 3R s || 2lell HTEIoT T &

Question Number : 9 Question Id : 54592750711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = 197
2. » 107
3.% 131
4. <119

Question Number : 9 Question Id : 54592750711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v fGwredt & &, deT v Afead ek & AT &
gTellToh, Ueh Tdehed 3ed dlid @l i@ el &l 39 Ahed @
Tl hY S FTehT T 37T &I

Options:

1. = 197
2. = 107
3. = 131
4. v 119

Question Number : 10 Question Id : 54592750712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

06:1.667::09:7

Options:

1.+1.111
2. % 1.333
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A,

3. = 1.778
4. % 1.999

Question Number : 10 Question Id : 54592750712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T T HT ST AT J&IT H 30T TR 8 Td&rad
g o v @ q@Edl dEar dgell §EdT @ Feldd g

06 : 1667 :: 0.9 : ?

Options:

1. v 1.111
2. % 1.333
3. % 1.778
4. = 1.999

Question Number : 11 Question Id : 54592750713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two signs should be interchanged to make the below
equation mathematically correct?

8+4-34x17+5=35

Options:

1. % -, x
2.v +, %
3w -,
4 %+, -

Question Number : 11 Question Id : 54592750713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,
A U 31T FHRIOT &t 0T §9 & gl dellal & o0 fohet
al el &l TEI TATATAIRT ST ANgT?

8 +4-34x17/+5=235

Options:

T, = -, X
2. v +, X%
3.0 -, %
4, = +, -

Question Number : 12 Question Id : 54592750714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two numbers should be interchanged to make the
below equation mathematically correct?

4x5-10+2+7=34
Options:

1.v4,7
2.% 5,7
3.% 10,7
4 %4 2

Question Number : 12 Question Id : 54592750714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A U 1T GHRIOT & 0T &7 & @l Jellal & oIw fopel
a1 &I T TATATART TRAT ST ANBT?

4%x5-10+2+ 7 = 34

Options:
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A,
1. v 4, 7
2. % 5,7
3. % 10, 7
4, % 4, 2

Question Number : 13 Question Id : 54592750715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

27,64, ,216,343

Options:

1. = 191
2. % 104
3.v125
4. = 115

Question Number : 13 Question Id : 54592750715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaliad & J&er A otd HEIT AT hifsiv

27, 64, , 216, 343

Options:

1. = 191
2. % 104
3. v 125
4. = 115

Question Number : 14 Question Id : 54592750716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

If 16@3 = 60, 14@4 = 68, 19@6= 126, then what is the value of
23@57?

Options:

1. = 115
2. % 125
3.v127
4. % 128

Question Number : 14 Question Id : 54592750716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE 16@3 = 60, 14@4 = 68, 19@6 = 126, ar 23@5 T
Aed 7 87

Options:

1. = 115
2. % 125
3. v 127
4. % 128

Question Number : 15 Question Id : 54592750717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following Venn diagrams best represents the
relationship between tigers, deer and animals?

Options:

1 . s Ij'\._ “:-JI /I
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A,

-
......

Question Number : 15 Question Id : 54592750717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foea & & Sid 91 a7 IR 9=l BIom 3R Seras & &8
Y I G JToT c2lTdr &7

Options:

Question Number : 16 Question Id : 54592750718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person walks 6 km towards north, then turns towards west
and walks 3 km. He then turns left and walks 4 km, and then
again turns left and walks for 3 km. Where is he standing
now with respect to the starting point.

Options:

1. v 2 kim north


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

2. % 2 km south
3. = 3 km north
4, = 3 km south

Question Number : 16 Question Id : 54592750718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk =gTFd 3cdd T 3T 6 km Terar &, T ufeas Fr e
HSAT & 3R 3 km TerdT &1 a8 T S0 31T #34T & 3K 4
ka%,SﬂTﬁWWSﬁTﬂET%WSKmW%I
TEHTAT g F T H 9§ 319 gl T9T &

Options:

1. v 2 km 3ca¥
2. % 2 km gfgor
3. * 3 km 3ca¥
4. % 3 km gf&or

Question Number : 17 Question Id : 54592750719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

by

<[O[+

Options:

1,«?@
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A,

4, % L°

Question Number : 17 Question Id : 54592750719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 AT H TohE O &Y el 3Thfd H Uehe ©el o YR
UL Gl ST ST Thdl &7

ABLGIRAS
X

Options:
1, v 1OF
7 % 7 )
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A,

Question Number : 18 Question Id : 54592750720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following answer figure completes the series of
the question figure?

AN vV O
4 e X X ?
O <] K

Options:

N X ©
1.+ >
N
X

2. x| OB

<l
[ X

3. % e

1K
>

4, % )

Question Number : 18 Question Id : 54592750720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A
fAeafaf@d A § ST A1 3cdT AT gea 3TFia HT s@er ot
T FTAT &7

AN A
b e X R p ?
0] < K4

Options:

N X O

1. ¢ >

0N
had

2. % |_O>

<
K X

3. % S

1K
X
4, = @

Question Number : 19 Question Id : 54592750721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

Options:
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A,

4 v

Question Number : 19 Question Id : 54592750721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hiel ET Scal 3T Wesl 3Tpics H Yol T [T HF?

Options:
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A,

Question Number : 20 Question Id : 54592750722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

M M

Options:

1. =

%)
/]
)
N
\8
N
2.

@

N

N
1.0 [N
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A,

Question Number : 20 Question Id : 54592750722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfe U gUOT &I 3T MN 93 I&T 3-T &, ar i 8T 3cal
3TpTT &1 a5 3TTpicT T FET GUOT qidiss gem?

M N
%,
4
Options:
Q
1. = B

\8
2. ¢ °

%
N

N
4, = <

General Awareness

Group Number : 2

Group Id : 5459272512
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
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adtab

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness

Section Id : 5459272512

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273014
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592750723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which of the following states Padyani dance is
assoclated?

Options:

1. = Punjab

2. = Uttar Pradesh

3. = Himachal Pradesh
4. v Kerala

Question Number : 21 Question Id : 54592750723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfal@a 7 @ 0 U9 & T ISl cg 31 §3—1T%"?

Options:

1. % OolTe

2. * 3cad weel

3. » TEHATSr uger
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A,
4. v ol

Question Number : 22 Question Id : 54592750724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which of the following state is Fugdi folk music related
to?

Options:

1. » Assam

2. * Madhya Pradesh

3. *» Jammu and Kashmir
4 v Goa

Question Number : 22 Question Id : 54592750724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d A & ThE Tog & T1Y ST ollsh HIfld Fafad g7

Options:

1. = 3GHA

2. = AT U

3. » SF 3R FHX
4. ¢ AT

Question Number : 23 Question Id : 54592750725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sarhul, which is one of the most popular tribal festivals, is
associated with which of the following states?

Options:

1. * West Bengal

2. » Haryana

3. » Jammu and Kashmir
4. v Jharkhand

Question Number : 23 Question Id : 54592750725 Question Type: MCQ Option Shuffling: Yes
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A Cooger
0ogie Fla
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Correct Marks: 1 Wrong Marks: 0.25

m@,mmmmmﬁﬁwa
farafaiEad 7 & v Tog & 1Y 371 &7

Options:

1. = ITTH FTel

2. = EIGTom
3. » SIF 3N FeHAR

4. v SIRES

Question Number : 24 Question Id : 54592750726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many subsidiaries of State Bank of India (SBI) were
nationalized via the State Bank of India (Subsidiary Banks)
Act, 19597

Options:

1.4
2.% 5
3.2 0
4.7

Question Number : 24 Question Id : 54592750726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO ¥ 8k (SBI) FT Tohadal TERIF Sl &l IO T
g (TERF §) FTATAITA, 1959 F ATETH T TSAIHI0T TohaT
I=”AT AT?

Options:

1. = 4
2. % 5
3. » 6
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A
4. v 7

Question Number : 25 Question Id : 54592750727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gross Domestic Product (GDP) - Depreciation = ?

Options:

1. = Gross National Product (GNFP)

2. » Net Factor Income from Abroad (NFIA)
3. = Net National Product (NNP)

4. v Net Domestic Product (NDP)

Question Number : 25 Question Id : 54592750727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hehel BXe] 3cUTE (SIISTdY) - Hedgd = ?

Options:

1. » Hehol TSI 3cdre (GNP)
2.« fader @ g HRF A (NFIA)
3. = g T 3cae (NNP)

4. v Tga & 3eurg (NDP)

Question Number : 26 Question Id : 54592750728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Giga is equal to:
Options:
1.v 100

27 % 10%

3. % 10
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A,

4 = 100

Question Number : 26 Question Id : 54592750728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afram o SN ol

Options:
1. v 10°
2 = 108
3 = 107
4. = 1010

Question Number : 27 Question Id : 54592750729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following enzymes converts liquid milk to solid
particles?

Options:

1. = Pepsin
2. v Rennin
3. = Trypsin
4. = Steapsin

Question Number : 27 Question Id : 54592750729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el # & Sla AT USISH ol g I o1 Ul H
gRafdd HLdr §?
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A,

Options:

1. = Ui
2. v alel

3. = feicHe
4, = TEcoye

Question Number : 28 Question Id : 54592750730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following country is not a part of South
America?

Options:

1. = Chile
2. v Mexico

3. = Peru
4. = Brazil

Question Number : 28 Question Id : 54592750730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafel™@a # @ i &7 2T [&0T FANKT F7 BEar Far &7

Options:

1. = f=relY
2. v ATFTT
3. = ¥
4. = STeitel

Question Number : 29 Question Id : 54592750731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following states is the Nizam Sagar Dam
located?

Options:

1. * Andhra Pradesh
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A,

2. = Gujarat
3. » Madhya Pradesh
4. v Telangana

Question Number : 29 Question Id : 54592750731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fooTH PR 919 Fefoi@a # @ g Tsg & ua &2

1p.w3rr'r%,T‘;|?€>T
2.%@311?-[
3. = AT UL
4. v JoleITaT

Question Number : 30 Question Id : 54592750732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is the highest point of Kerala?

Options:

1. = Kalsubal

2. v Anamudi

3. = Kangto

4. » Mullayanagiri

Question Number : 30 Question Id : 54592750732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & Fladr HTa FT 3wIaA fog &7

Options:

1. % FoaTs
2. v 3dATSHET

e

3. % hardr
4.  FeoTATENT
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A,

Question Number : 31 Question Id : 54592750733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the Champaran Movement start?

Options:

1. = 1915
2. v 1917
3. = 1920
4. % 1925

Question Number : 31 Question Id : 54592750733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TYROT JTETelel hT LE3TT Fa _ja'ér?

Options:

1. = 1915
2. v 1917
3. = 1920
4. = 1925

Question Number : 32 Question Id : 54592750734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Pala Dynasty?

Options:

1. » Ramapala
2. v Gopala

3. *» Devapala
4. = Mahipala

Question Number : 32 Question Id : 54592750734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTel el 1 TEUTIHR hid AT?

Options:
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A,

1. = ITHYTST
2. v I9Tel
3. = gaurel
4. = HAfgUTer

Question Number : 33 Question Id : 54592750735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the revenue minister of Sher Shah Suri?

Options:

1. v Todar Mal
2. = Tansen

3. = Birbal

4. » Abul Fazl

Question Number : 33 Question Id : 54592750735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT o FIT & TeEg HAT FieT A2

Options:

1. v CISTHS
2. % dlade
3. % ®Leel
4,

® 31%01 thal of

Question Number : 34 Question Id : 54592750736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarter of World Bank located?

Options:

1. v United States
2. = United Kingdom
3. = China
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Ao
4. = Russia

Question Number : 34 Question Id : 54592750736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fereq sk T FEATerT el Fod &7

Options:

1. v TJFT T AR
2. » galrges TorarsH

3. = Trel

4, = &H

Question Number : 35 Question Id : 54592750737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Padma Vibhushan award started on which date?

Options:

1. = 10th Jan 1954
2. = 2nd Jan 1955
3. % 3rd Jan 1953
4. v 2nd Jan 1954

Question Number : 35 Question Id : 54592750737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T [qeWor WEhR ford aRT@ T oF FRar e

Options:

1. % 10 STeTadl 1954
2. ® 2 STeHT 1955
3. = 3 STeladr 1953
4. v 2 AT 1954

Question Number : 36 Question Id : 54592750738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Which amendment decreased the upper limit of
representatives from the Union Territories from 25 to 20?

Options:

1. » 38
2. % 24
3.= 21
4. v 31

Question Number : 36 Question Id : 54592750738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foRe @eleel of shg oM WEe & ATl 6T ST d@AT 25
& "erehY 20 &Y oF I o417

Options:

1. = 38
2. = 24
3. = 21
4, v 31

Question Number : 37 Question Id : 54592750739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The Directive Principles of State Policy in India’s constitution
are borrowed from the constitution of

Options:

1. = Australia

2. » Canada
3. v Ireland
4. = Britain

Question Number : 37 Question Id : 54592750739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,
HRT & AU A T dAlfla & dere g
& AT & 39T T F|

1p.w3i“1’1'-—;}1%rm
2. ® hellST
3. v 3RS
4. = e

Question Number : 38 Question Id : 54592750740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The schedule of the Indian Constitution contains the
list of states, union territories and their territories.

Options:

1. = Second
2. v First

3. = Third
4. = Fifth

Question Number : 38 Question Id : 54592750740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT i':iia%:lla_'l T Hﬂaﬂr\fjl p= Nx:-'ﬂi, é«—g: Qﬂﬁ(_'l'
Taeit 3T e At E)

Options:

1. = gEAT
2. v Ugell
3. » dradr
4. = gradr

Question Number : 39 Question Id : 54592750741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Which among the following teams had won the Men'’s Hockey
World Cup in 2018?

Options:

1. v Belgium

2. » Netherlands
3. = Germany

4. = India

Question Number : 39 Question Id : 54592750741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@ad & & ffg &\ & 2018 & 929 gierl favg &9 Sirdr
aqT?

Options:

1. v afecad
2. » sialels
3. » STHAT
4. » R

Question Number : 40 Question Id : 54592750742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following bowlers have taken the most
wickets in their career during ODIs?

Options:

1. » Wasim Akram
2. v M. Muralitharan
3. = Anil Kumble

4. » Shane Warne

Question Number : 40 Question Id : 54592750742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,
Torfataa dearelt & @ s v e siatsda et &
2T 3T FRET & wAifiE fe e &

Options:

1. = TUTH 3ThIA
2.@*@.@%
3. » 3l Feel
4, % 2T TleT

Arithmetic Ability
Group Number : 3
Group Id: 5459272513
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability
Section Id : 5459272513
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273015
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592750743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Find the value of: +/(3+/(29++/(41++/64)))

Options:

1. =1
2. % 2
3.v3
4 %4

Question Number : 41 Question Id : 54592750743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

V(3+/(29+/(41+/64))), FT HeI AT Fll

Options:

1. % 1
2. % 2
3.+ 3
4. % 4

Question Number : 42 Question Id : 54592750744 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the greatest number of 4 digits which is divisible by
12,36,48 and 72?

Options:

1. = 9900
2. % 9912
3. %9924
4, v 9936

Question Number : 42 Question Id : 54592750744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 3Rt hT TS T G&AT FAT & S 12, 36, 48 T 72 @
BT &7

Options:
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A,
1. = 9900
2. % 9912
3. = 9924

4. v 9936

Question Number : 43 Question Id : 54592750745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the eventual bank balance when a deposit of Rs.
2222.29 and a withdrawal of Rs. 1672.44 is made to an
account balance of Rs. 4631.827

Options:

1. v Rs. 5181.67
2. » Rs. 5051.67
3. # Rs. 5111.67
4. % Rs. 5211.67

Question Number : 43 Question Id : 54592750745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh TTd & 2222.29 39 STHT el 3T 1672.44 9 I
faorrdT 9T 3Tad 99 gawter =37 ge, afe 39d 4631.82 TUr
T Solg &7

1. v 5181.67 39
2. % 5051.67 39
3. » 5111.67 39
4. = 521167 312

Question Number : 44 Question Id : 54592750746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

The average monthly income of P and () is Rs. 5200, average
monthly income of Q and R is Rs. 4600 and the average
monthly income of R and P is Rs. 5500. What is total monthly
income of P, Q and R?

Options:

1. = Rs. 14,400
2. = Rs. 14,700
3. ® Rs. 15,100
4. v Rs. 15,300

Question Number : 44 Question Id : 54592750746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P 3r Q &Fr 3faa Afas 3= 5200 393 &, Q 3 R &
raa #1fs 3= 4600 39 § 3R R 3w P &1 3 afds
AT 5500 TU & P,QaﬂTRa&r@mﬁ?mw%?

Options:

1. = 14,400 9
2. % 14,700 3
3. » 15,100 s9
4. v 15,300 3=

Question Number : 45 Question Id : 54592750747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article was sold for Rs. 1000 after 2 successive discounts of
20%. What is the marked price of the article?

Options:

1. v Rs. 1562.5
2. % Rs. 1575.5
3. % Rs. 1215.5
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A,
4. = Rs. 1568.5

Question Number : 45 Question Id : 54592750747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20% T 2 STA® B¢ & TG Teh ofF S 1000 94 H &=m a=T|
g 1 REaT g F=r 87

Options:

1. v 1562.5 39
2. = 1575.5 39
3. » 12155 30
4. = 1568.5 Tqd

Question Number : 46 Question Id : 54592750748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article was sold for Rs. 2250 at a discount of 20% after 2
successive mark-ups of 50% each. Find the cost price of the
article.

Options:

1. = Rs. 1320
2. » Rs. 1260
3. = Rs. 1200
4. v Rs. 1250

Question Number : 46 Question Id : 54592750748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

50% o 2 shiA® 3iehel & &g 20% HT DT qof T Teh ol I
2250 YT H ST IR AT| o FT A6TT Hed AT |

Options:

1. = 1320 &9
2. = 1260 39
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.-
3. % 1200 9=
4. v 1250 392

Question Number : 47 Question Id : 54592750749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The population of a town increased from 240000 to 288000 in
a decade. What is the average increase of population per year?

Options:

1. v 2 percent

2. % 2.25 percent
3. % 2.50 percent
4. = 2.75 percent

Question Number : 47 Question Id : 54592750749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ShEd shl METST Uk €2leh A 240000 & sehe 288000 & %
| ufd @ SerEear 1 e gie 1 &7

Options:

1. v 2 percent

2. » 2.25 percent
3. » 2.50 percent
4. = 2.75 percent

Question Number : 48 Question Id : 54592750750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two students appeared for an examination. One of them
scored 12 marks more than the other and his marks was 55%
of the sum of their marks. What was the total marks obtained
by them?

Options:

1. » 100 percent
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A,

2. * 110 percent
3. % 125 percent
4. v 120 percent

Question Number : 48 Question Id : 54592750750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g B U Tl A IURTT U1 3oTH A UF B gI HT Jelell
H 12 37k 3T fAer 3T 38F 37 3aTah 3Rl T AT T
55% T 3T 2lell & E@RT Ut el 37k FaT A7

Options:

1. = 100 percent

2. = 110 percent
3. = 125 percent
4, v 120 percent

Question Number : 49 Question Id : 54592750751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A seller expects a gain of 33.33% on his cost price. If in a
week, his sale was Rs. 21000, what was his average daily
profit?

Options:

1. v Rs. 750
2. » Rs. 700
3. % Rs. 770
4. » Rs. 630

Question Number : 49 Question Id : 54592750751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Teh fadshdl I 3Ual FHETT Hed 9T 33.33% T o1 @lad T
3FAE &1 I v gearg A, 3t ot 21000 s9d o, ar
3T g &fas oy =T oa1?

Options:

1. v 750 392
2. = 700 39
3. = 770 39
4. = 630 39T

Question Number : 50 Question Id : 54592750752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If1/5:5/12 :: X/4 : 5/2, find the value of X.

Options:

1.+4.8
2.% 44
3.% 5

4. % 5.2

Question Number : 50 Question Id : 54592750752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 1/5 0 512 = X4 @ 572, @ X T Hed AT F|

Options:

1. v 4.8
2. = 44
3. # 5

4. = 5.2

Question Number : 51 Question Id : 54592750753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

A sum of money is to be distributed among A, B, Cand D in
the ratio of 3:7:2:9. If D gets Rs. 600 more than B, then how
much does C receive?

Options:

1. = Rs. 900
2. » Rs. 2100
3. v Rs. 600
4. » Rs. 2700

Question Number : 51 Question Id : 54592750753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C 3R D & dra 3:7:2:9 s 3fefulcd # Tsh Yooy
fafa Fr smer &1 Ife D = B & 392 600 319 urea gl
g, dI C = Tordell g=iIfer ured gheir?

Options:

1. = 900 39
2. = 2100 ¥
3. v 600 39
4. = 2700 ¥

Question Number : 52 Question Id : 54592750754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Rs. 340 is to be divided into three parts, proportional to
1/5:3/5:1/3, then what is the value of the third part?

Options:

1. » Rs. 60

2. » Rs. 100
3.+ Rs. 180
4. » Rs. 340
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A,

Question Number : 52 Question Id : 54592750754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Afe S0 340 FT 1/5:3/5:1/3 & 37l A oiet H@l # fasnisra
foram ST &, a, d e o7 T Hed 17 §7

Options:

1. = 60 ¥
2. = 100 392
3. v 180 ®9&
4. = 340 39

Question Number : 53 Question Id : 54592750755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man pays Rs. 3141 as simple interest for a sum borrowed
for 3 years at 12% per annum. What was the sum borrowed
by the man?

Options:

1. » Rs. 6,725
2. v Rs. 8,725
3. = Rs. 7,225
4. % Rs. 9,225

Question Number : 53 Question Id : 54592750755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh OTod 12% T @Y sl &7 & 3 a¥ & Tolv 34T o a2
eI UT HTYROT AT & §9 H 59F 3141 Tehrar &1 347
AT TaRT 3UN ol 35 YelITer AT 2417

Options:

1. = 6,725 9
2. v 8,725 30
3. = 7,225 39
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il
4, = 9,225 w4

Question Number : 54 Question Id : 54592750756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man travelled a distance of 24 km in 3 hours. He travelled
partly on foot at 4 kim/h and partly on bicycle at 12 km/hr.
The distance travelled by the man on foot is

Options:

1.~ 6 km
2. % 16 km
3. %12 km
4. = 9 km

Question Number : 54 Question Id : 54592750756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ITEAT of 3 8¢ H 24 km 6T T T Fr| 37 3MMLFH &
T 4 km/h Yo ImaT &1 3R 3R 97 & 12 km/h &1 afa &
Frsfehel WY ATAT 7| EGAT GART UGl JF =7 I8 T

gl

Options:

1. v 6 km
2. *= 16 km
3. = 12 km
4, = 9 km

Question Number : 55 Question Id : 54592750757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A can do a work in 50 days, find the number of days in
which B can do the work alone if they can together finish the
work in 15 days.

Options:
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A,

1. = 2043
2. % 20.71
3. = 21.28
4. v2143

Question Number : 55 Question Id : 54592750757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifc A 50 Teal H Tah T T Thdl &, ol 3o ol ohl &l
AT N FGH B 3kl FT T TohdT &, Il T Tk 1T
fAerehT 15 feall # a8 HTH T HT Fohd 2|

Options:

1. = 20.43
2. = 20.71
3. = 21.28
4. v 21.43

Question Number : 56 Question Id : 54592750758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a job in 8 days, B can do it in 4 days. With the help of
C, they do it in 2 days. In how many days can C do the job
alone?

Options:

1. = 2
2.% 4
3.v8
4. % 16

Question Number : 56 Question Id : 54592750758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,
A, 8 T&ail H Uk FTH T ThaT &, B 37 4 Gl H# T ThaT &

| C T AeE @, @ 30 2 ool # = &1 C 3o 98 FIH
fraer &l # T GohaT &7

Options:

1. = 2
2. = 4
3. v 8
4. = 16

Question Number : 57 Question Id : 54592750759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man was walked along the hypotenuse of right-triangles lot.
The other two sides measured 8 m and 15 m respectively.
Approximately how much distance be saved by not walking
along the sides?

Options:

1.+6m
2. 10m
3. % 833 m
4. % 9.67 m

Question Number : 57 Question Id : 54592750759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ucsh TFd THBIUT-TARIUT ofic o HoT o HTA-ATT Tl ST I&
AT| 3o B T3 & AT FAA: 8 m 3 15 m §| M3it
HIL-ATY o7 Toled F oRTHI Tohelall T sl &7

Options:

1. v 6 m

2. = 10 m
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A,
3. % 833 m
4. = 967 m

Question Number : 58 Question Id : 54592750760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A hollow iron pipe is 70 cm long and its external diameter is 8
cm. If the thickness of the pipe 1s 1 ¢cm and iron weighs 15

g/cm3, then what is the weight of the pipe?

Options:

1. = 3.25 kg
2.v2.31kg
3. % 1.47 ke
4. % 1.75 kg

Question Number : 58 Question Id : 54592750760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh T allg T 9IS9 70 cm ofeT & 3T SHRT J8dT 97 8

cm gl IfE 95T Fr Aere 1 cm%‘ﬁTﬂﬁ?ﬁﬁTﬁfﬁgfcmS
&, o YS9 T golel AT §7

Options:

1. = 3.25 kg
2. v 2.31 kg
3. = 1.47 kg
4. = 1.75 kg

Question Number : 59 Question Id : 54592750761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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adtab

The following table shows the number of students passing in
each subject over different years. What is the ratio of the
number of years in which students passed in Maths is more
than the average passed in Maths to the ratio of number of
students passed in Maths is less than the average passed in
Maths?

Years Biology Maths Physics Chemistry
2014 200 350 280 320
2015 3500 410 420 375
2016 375 380 375 420
2017 290 420 400 380
2018 420 A50 350 400

Options:

1. =54

2. % 4.5

3. % 2:3

4 v 3:2

Question Number : 59 Question Id : 54592750761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

foreer aifoerr faffies ast A g v & 3ot oEt &
HEAT I ATAT §1 N ST HEAT T eI AT & TordH
T & 3caiot et fT g&ar , H28 H 3cdivt SE hr e
Hef A 3ol STl T AT & U & 377 &7

wtferfr THEA

aat Iﬁ*ﬂd%73n=1 o By IEEIC]
2014 200 350 280 320
2015 350 410 420 375
2016 375 380 375 420
2017 290 420 400 380
2018 420 450 350 400

Options:
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A,
1. = 5:4
2. = 4:5
3. % 2:3
4, v 3:2

Question Number : 60 Question Id : 54592750762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following histogram shows the time taken (in seconds) by
a group of people to swim. What is the cumulative frequency
of time 480-600 class interval?

18
16
14
12

No of Swimmers

240-360 120-240 360-480 0-120

Time Taken

EM-hﬂ\{ﬂE

Options:

1. %3
2.v 39
3. % 40
4, %5

Question Number : 60 Question Id : 54592750762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A

Addal2417)

GET IT ON
Google Play

foreet 3MAART ol & U HHE @I o & folv, ford arw
AT (Aehs H) T Z2ATAT &1 480-600 FIT AT & THIT hl

T 3gicd T 87

18
16 wid
14
E 12
4 10
E 8 = 7
[ 5
2
2 [—
240-360 120-240 360-480 0-120 480-600
A A
Options:
1. = 3
2. v 39
3. = 40
4. = 5
General English
Group Number : 4
Group Id : 5459272514
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English
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Section Id : 5459272514

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459273016
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592750763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Many childrens were / (B) injured when the / (C) bomb
exploded. / (D) No error

Options:

1.vA
2.% B
3.%C
4. %D

Question Number : 61 Question Id : 54592750763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence is free from error, select the "No error" option.

(A) Many childrens were / (B) injured when the / (C) bomb
exploded. / (D) No error

Options:

1. v A
2. » B
3. = C
4. = D

Question Number : 62 Question Id : 54592750764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) I'd rather/(B) be a bird/ (C) then a lion./ (D) No error

Options:

1. = A
2.% B
3.v(C
4. %D

Question Number : 62 Question Id : 54592750764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence is free from error, select the "No error" option.

(A) I'd rather/(B) be a bird/ {C) then a lion./(D) No error

Options:

1. = A
2. » B
3. v C
4. = D

Question Number : 63 Question Id : 54592750765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Lalita has been looking for you (from) morning.

Options:

1. = in
2. » with
3. = 10
4. v since

Question Number : 63 Question Id : 54592750765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Replace the words in the bracket from the set of options

given.

Lalita has been looking for you (from) morning.

Options:

1. = In
2. % with
3. = to
4. v since

Question Number : 64 Question Id : 54592750766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

The syllabus was not structured (in her) point of view.

Options:

1. = with her
2. » on to her
3. v from her
4. = to her

Question Number : 64 Question Id : 54592750766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

The syllabus was not structured (in her) point of view.

Options:

1. = with her
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A,

2. ¥ on to her
3. v from her

4. = to her

Question Number : 65 Question Id : 54592750767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the appropriate word.

Leena told us a very story.

Options:

1. = excite

2. » excitingly
3. v exciting
4. = excited

Question Number : 65 Question Id : 54592750767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the appropriate word.

Leena told us a very story.

Options:

1. = excite

2. = excitingly
3. v exciting
4. = excited

Question Number : 66 Question Id : 54592750768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Industrialisation is the period of

P : an agrarian society

() : transforms a human group from
R : social and economic change that
S :Into an industrial society

Options:

1. v RQPS
2. » RQSP
3. = QRSP
4. = QPRS

Question Number : 66 Question Id : 54592750768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

Industrialisation I1s the period of

P : an agrarian society

Q : transforms a human group from
R : social and economic change that

S 1 Into an industrial society

Options:

1. v RQPS
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A,
2. = RQSP

3. = QRSP
4. = QPRS

Question Number : 67 Question Id : 54592750769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Frantic

Options:

1. = Truth

2. » Subtle

3. v Panic-struck
4. = Mistake

Question Number : 67 Question Id : 54592750769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Frantic

Options:

1. = Truth
2. = Subtle

3. v Panic-struck

4. = Mistake

Question Number : 68 Question Id : 54592750770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Out of the four alternatives, choose the word which 1s
OPPOSITE in meaning to the given word.

Exodus

Options:

1. v Arrival

2. » Withdraw
3. = Sufficient
4. » Necessary

Question Number : 68 Question Id : 54592750770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Exodus

Options:

1. v Arrnival

2. = Withdraw
3. = Sufficient
4. = Necessary

Question Number : 69 Question Id : 54592750771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Ingineus
2. = Ingenius
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A,

3. v Ingenious
4, = Inginous

Question Number : 69 Question Id : 54592750771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Ingineus
2. % |Ingenius
3. v Ingenious
4, = |nginous

Question Number : 70 Question Id : 54592750772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Milionaire

2. v Millionaire
3. = Milionnaire
4. = Millennaire

Question Number : 70 Question Id : 54592750772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is spelled correctly.

Options:

1. = Milionaire
2. v Millionaire
3. = Milionnaire

4. = Millennaire
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A,

Question Number : 71 Question Id : 54592750773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Irrevernce
2. » Irevernce
3. v Irreverence
4, = [rrevence

Question Number : 71 Question Id : 54592750773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. = lrrevernce
2. % |revernce
3. ¢ lrreverence

4. = |rrevence

Question Number : 72 Question Id : 54592750774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Burn the midnight oil

Options:

1. = To use a lantern when there is no electricity.
2. » To light lamps during Diwall.

3. = To get up late in the morning.

4. v Read or work late in the night.
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A,

Question Number : 72 Question Id : 54592750774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Burn the midnight oll

Options:

1. = To use a lantern when there I1s no electricity.
2. = To light lamps during Diwall.
3. = To get up late in the morning.

4, v Read or work late In the night.

Question Number : 73 Question Id : 54592750775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To spill the beans

Options:

1. = To be disorganized and clumsy

2. » To waste food

3. v To reveal a secret

4. = To hear something from the authoritative source

Question Number : 73 Question Id : 54592750775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To spill the beans

Options:
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A,

1. * To be disorganized and clumsy
2. * To waste food
3. v To reveal a secret

4. = To hear something from the authoritative source

Question Number : 74 Question Id : 54592750776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words/sentences.

A place where dead bodies are kept for identification.

Options:

1. = Cemetery
2. = Infirmary
3. v Morgue
4. = Creche

Question Number : 74 Question Id : 54592750776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the

wordsfsentences.

A place where dead bodies are kept for identification.

Options:

1. = Cemetery
2. % Infirmary
3. v Morgue


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A
4. = Creche

Question Number : 75 Question Id : 54592750777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions
given below.

Something kept as a reminder of an event.

Options:

1. = Scar

2. v Souvenir

3. = Museum

4. = Collection

Question Number : 75 Question Id : 54592750777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

Something kept as a reminder of an event.

Options:

1. = Scar
2. v Souvenir
3. = Museum

4. = Collection

Sub-Section Number: 2
Sub-Section 1d: 5459273017
Question Shuffling Allowed : Yes
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A,

Question Id : 54592750778 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension
Read the passage carefully and answer the given question.

There has been much wailing and gnashing of teeth lately
about the harm globalization causes to workers, who are
increasingly worried that their hard-learned skills will
become obsolete as their jobs are shipped overseas. But
globalization is also proving an exciting opportunity for a
growing number of workers who are seizing the chance to
work abroad. The extent to which human capital is voting for
globalization with its feet is made clear by two surveys
published on June 24th by Manpower, a global
employment-services firm. The first, "Relocating for Work",
polled over 31,000 workers; the second, "Borderless
Workforce,” surveyed 28,000 employers, each in 27 countries.
Some 78% of the workers surveyed {(most of them have
professional skills or qualifications) said they would consider
moving abroad to get a good job - some of 40.5% would move
permanently.

Sub questions

Question Number : 76 Question Id : 54592750779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is one of the disadvantage of globalization?

Options:

1. v Hard-learned skills of the workers have become obsolete
as their jobs are shipped overseas.

2. = It 1s increasing the population.
3. = It provides an opportunity to work abroad.
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4. = It reduces unemployment rate.

Question Number : 77 Question Id : 54592750780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is one of the advantages of globalization?

Options:

1. = It has led to increased competition.

2. = Most of the jobs are shipped overseas.

3. v It provides an opportunity to work abroad.
4. = It is increasing the population.

Question Number : 78 Question Id : 54592750781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many workers were surveyed under the "Relocating for
Work” survey?

Options:

1. = 28000
2. v 31000
3. = 27000
4. = 78000

Question Number : 79 Question Id : 54592750782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What percent of the total workers surveyed would consider
moving abroad to get a good job?

Options:

1. = 27 percent
2. = 40.5 percent
3. = 31 percent
4. v 78 percent

Question Number : 80 Question Id : 54592750783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

What percent of the total workers surveyed would move
abroad permanently to get a good job?

Options:

1. = 78 percent
2. % 277 percent
3. v 41 percent
4. » 31 percent

Question Id : 54592750778 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension
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A,

Read the passage carefully and answer the given question.

There has been much waliling and gnashing of teeth lately
about the harm globalization causes to workers, who are
Increasingly worried that their hard-learned skills will become
obsolete as their jobs are shipped overseas. But
globalization is also proving an exciting opportunity for a
growing number of workers who are seizing the chance to
work abroad. The extent to which human capital i1s voting
for globalization with its feet I1s made clear by two surveys
published on June 24th by Manpower, a global
employment-services firm. The first, "Relocating for Work",
polled over 31,000 workers; the second, "Borderless
Workforce," surveyed 28,000 employers, each in 27
countries. Some /8% of the workers surveyed (most of
them have professional skills or qualifications) said they
would consider moving abroad to get a good job - some of

40.5% would move permanently.

Sub questions

Question Number : 76 Question Id : 54592750779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is one of the disadvantage of globalization”

Options:

1. v Hard-learned skills of the workers have become

obsolete as their jobs are shipped overseas.
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A,

2. % [t 1s Increasing the population.
3. # |t provides an opportunity to work abroad.

4. = |t reduces unemployment rate.

Question Number : 77 Question Id : 54592750780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is one of the advantages of globalization?

Options:

1. = It has led to Iincreased competition.
2. = Most of the jobs are shipped overseas.
3. v It provides an opportunity to work abroad.

4. = |t is Increasing the population.

Question Number : 78 Question Id : 54592750781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many workers were surveyed under the "Relocating for

Work" survey?

Options:

1. = 28000
2. v 31000
3. = 27000
4. = 78000

Question Number : 79 Question Id : 54592750782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What percent of the total workers surveyed would consider

moving abroad to get a good job?

Options:

1. = 27 percent
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A

Addal2417
2. » 40.5 percent

3. * 31 percent
4. v /8 percent

Question Number : 80 Question Id : 54592750783 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

What percent of the total workers surveyed would move

abroad permanently to get a good job?”

Options:

1. = /8 percent
2. % 27 percent
3. v 41 percent

4. = 31 percent

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

General Hindi

5
5459272515
0

0
No
No
0
20
No
Yes
0

0

General Hindi

5459272515
1

Online
Mandatory
16

16


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459273018
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592750784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTead U #, IR Tddhedl § ¥, 39 ey BT ad= b ST UG § -7 g
|

Options:

1. = 3T
2. ¢ ETNd

3. % Zar
4, * AICTUT

Question Number : 81 Question Id : 54592750784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafeT@a wed A, I) Tedl # &, 39 TFeT FT TTT
ST 39T & FT &

Options:

1. = 3MdTell

2. v EIEId
3. * Z&dT
4. % AT

Question Number : 82 Question Id : 54592750785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgtetad vy ¥, o [Aweul § ¥, 39 95! OweT & a3+ o o 7edd &
ST SIET, gl
1.%3m'5nr
2. % TR
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A,

3. v 3T
4, % Gchey

Question Number : 82 Question Id : 54592750785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
HL Sl Tcad & el eg gl

Options:

1. = &I
2. « IR

3. v AT

4. = Hehoed

Question Number : 83 Question Id : 54592750786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad g ¥, oR [Aaeul § ¥, R T & o7 MR 34

[ T
[dcheld ] Td-d el

T 39T B B TeAT g ST AT STl (TRATUTerTI)

Options:

1. * Theg

2.« dT

3. = gl

4, = qAT

Question Number : 83 Question Id : 54592750786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = ﬁm;r

2. v aldr

3. % oIl

4, = g

Question Number : 84 Question Id : 54592750787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgfalad vy # ar Raeul #§ ¥, 39 Rdew o1 a3 e S oy Y 9o
Pl Tt €Y gl

yiderelt

Options:

1. v US4
2. % GO
3. % g
4, * TgaT

Question Number : 84 Question Id : 54592750787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
S few v oreg &1 dgd &7 &

EIGEKI]
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Options:

1. v TSIET
2. * TRHAS
3. ® Tca¥
4. % Ugalell

Question Number : 85 Question Id : 54592750788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired Uy #, IR Tddetl § ¥, 39 [dded &7 Id= & 1T QAT e,

T T [AdeT gl al
drer

Options:

1. = 17
2. % ed

3. % cgied
4. v dchlel

Question Number : 85 Question Id : 54592750788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafe@a mead A, IR BFedl A 8, 39 @Fed FT TTT
ST AT ereg kT TET TheT FET &l

ﬁa.

Options:

1. = &

2. % g
* cand

3.
4. v dcohlel
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Question Number : 86 Question Id : 54592750789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiied Uy #, IR ddeul #§ 4, 39 [ddmed &7 adT &2 S [dellf e
BT oI 30T [adheT 2l

BRI

Options:

1. * 4%

2. v &ud
3. =g

4. % S

Question Number : 86 Question Id : 54592750789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @&d wesT A, TN Ahedl & @, 39 TOFeT T I
S fae#d ersg &1 gad 3ol [dhed g

IEEIC

Ba
Options:

1. = 92[g

2.&*@7-[

3. = "%

4 = E

-

Question Number : 87 Question Id : 54592750790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddedl § §, h T & o7 MR 3
Terdhe T &7 T+ Tl

< Tth Bl 3T Y-ecT PT THS SIFY

Options:
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Question Number : 87 Question Id : 54592750790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @a wesT A, IR Aeul & @, Rod T« & e

i Y
i?‘r’léﬁuay-m S Tdehed <hl el <hl|

ST Al 3Tel Tel-Tol T THS Snray

Options:

1. = STl
2. % Sl
3. v o8l FLAT
4. = Il

Question Number : 88 Question Id : 54592750791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTeIRad U7 #, IR fddhedl § ¥, 39 FgI [dhey DI ad= B ST araraia
& ToIT T Srec; o1 TardeT gl

<EU & ST B G ATl

Options:

1. * ST<d®
2. % arur

3. = M
4. v OduH

Question Number : 88 Question Id : 54592750791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = STTEcTeh
2. = ST

3. = folafw
4. v TSgedTh

Question Number : 89 Question Id : 54592750792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeTEd 77 ¥, o) Tdeul § 8, e T & ol MEAT9R 3/q

et e
[ddchold chl T hel

chier EIRT T | (HeTa)

Options:

1. v ei@l T8

Question Number : 89 Question Id : 54592750792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 90 Question Id : 54592750793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEeiEd Uy #, I Adedl # ¥, 39 [ddheT &7 T B Sl hidd # T
T 9o & IR IIH TTY ATelh e=1H Bl o4 oI [dhe] gl

Options:

1. v (¥) IS GesiTer DerdT gl

2. % (W) S UHE &l
3. » (3MM7) 3T Step g1 o7 @l
4. « (Tg) Tel-T 39T 3l

Question Number : 90 Question Id : 54592750793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a wed H, IR AFedr # &, 39 TFed FT TTT
ST hIcash H oV a0 oee o 3R Scdd Y&y drh JoarH

T G 3BT [dhed &

Options:

1. v (#) TSI Peaier FeldT
2.« (IA) A wEe &

3. % (39) 3ToT &k el ol gl
4. = (Ig) Tl g7 &

Question Number : 91 Question Id : 54592750794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYl d U #, IR [ddedl § ¥, 39 [dhed G a2 ST Hisd # 17
U 9 & ITHR ALIH T2 eATaeh AATH Pl Jad 30T [ddhed gl
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A,

Options:

1. = (HY) T ogd 3= gl

2. v (qW) AGT ATHT AT P

3. * (HBThT) SUTET AT AT UHE 511
4, » (IYPT) BOTH TE GH Il

Question Number : 91 Question Id : 54592750794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST ks H G0 a0 oreg F AR ACIH Yo dIF Tda1H

FT g8 BT [aheq &1

Options:

1. = (@) faT g TS Bl
2. v (qA) T8I ST 3TTH LT

3. * (HFARY) ST STET Silell THE el |

4. = (3HS) HH JAW TcH B1MI

Question Number : 92 Question Id : 54592750795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEeiEd Uy #, I [ddedl # ¥, 39 [dded &7 T3 Be Sl hisd | T
T SIEE, & TEIE A4 [T T GA-TH &l Fgl /Ao gil

Options:

1. * () DS W TeTd B g1 BT ATG U
2. % A (W) B 3

3. v B9 (39) BgT AT Th TZT 3R UGTS Be
4, % (AR IITT g T STep g1 I

Question Number : 92 Question Id : 54592750795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A
Addal297) ey
fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT

ﬁaﬁwﬁ%@m%ma:mgﬂu e TEY gqreh TaTH
T Gar aehed &l

Options:

1. = (qHARY) PN Y IJoId FA &I FIAT AMET
2. * Ig (A) = T

3. v #a (38) FeT AT F T 3T TG M|
4. » (IA<) Sarar § o Sk & gl

Question Number : 93 Question Id : 54592750796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g Uy #, IR [Aaetl § 9, 39 [dhet & o o S 10 1T ggTer
T T 379 ATelT ey gl

TSI U1 US ST

Options:

1. * & TeITS ST
2. % T T ST
3. v 9% JITHeT g

4. » °ST e ST

Question Number : 93 Question Id : 54592750796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ved #, I) TFedl & T, 39 OFeT FT II9
ST feU 10 #grey T Tel 379 arel fdsheq B

g3 9TaTl 98 STl

Options:

1. % 1A 9918 STar
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A,

4, = T3] e STl

Question Number : 94 Question Id : 54592750797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl 7 #, IR ordmetl § 9, 39 [Ad@ed @ ad= & 97 16U T ggTe
T Tar 31 ATeT ferdheT 3l

IS-graT ol
1. %-ET?.IﬁITvI'HT
2. * ST BT

3. = gryr fe@mr

4. v FA-Hell gl

Question Number : 94 Question Id : 54592750797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el @a mead A, I) T@Fedl A &, 39 TFed FT TTT

ﬁ%@?ﬁﬂﬁﬁﬁﬂﬁrﬁﬁmm FETR R

1. = T THATT
2. % HId hidl
3. % BY T

4, v SIT-&ell hga]

Question Number : 95 Question Id : 54592750798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,
Mgl 7 #, IR rdeul § ¥, 39 [hdhe & ad e AT 1R =g
Ieh a1 BT Gg! ey gl

Options:

1. * HTQT SIT sileil, # SMuch AT g1 LI
2. % HIQT SIT sileil -  3Tuch AT g1 Il
3. % HIAT ST &flel] # 3TUD T TT TGN
4. v HIGT ST atet, "H MUy AT TET I

Question Number : 95 Question Id : 54592750798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S faA Rger I areg F1 @e1 f9heq gl

Options:

1. = FAET S aYell, # 3Tk @Y o I
2. » FTCAT ST Svell - # 3o @y wE e
3. « AT S Sell # ek @y wET Ee
4. v AT S i, "# 3R @qrer @ e

Sub-Section Number : 2
Sub-Section I1d: 5459273019
Question Shuffling Allowed : Yes

Question Id : 54592750799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

QQuestion Label : Comprehension
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A,
ST TaU M WErTer B eATYeid UG TAT Uedd UY H AR et # 9 gl
Taemey g

AT TdoTdh T gl IT," § X H WY [Edh! @1 TaTTd DETT adiih
STH g SITg I 1T o1 hl AT g1” AHT T A, GHIST TUT 2T
T TgT T e@Tdr §1 AT §H 99 & Wgl Ul &t 3N &8 ar urui &r
Tt X Topedt-1-Tohdlt 95 s o1 T9Ta USTI AGTCAT TITe, 3TeITEH feidh,
TioTeeid QT ot Teaai & UH AT 37T T&adi 4 3T Siia- d 95 F=1aT 2T
q&dh gt AJCT DI erdT ST g, I8 3eY AR UeT Bidl gl Ivg I

T oI i 37 JAT LD T YPIer i 31T of ATl gl

Sub questions

Question Number : 96 Question Id : 54592750800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ITOE & YR Tl Thgd 1T g2

Options:

1. » 38 ATHAT &
2. % ¥ &

3. v 3ITHT TEdd! &
4, % 3TV YegR &

Question Number : 97 Question Id : 54592750801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS TEADT BT TICT U AT THTT TSl 37

Options:

1. * AT SATd T DTy

2. % TTth T oIl &9+

3. % W6 MR 9T 8

4. v TI6T & Hiax 38 AR UeT gid &

Question Number : 98 Question Id : 54592750802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IR & HEH TEUT TR TehgenT YTer 28T SITaT 372

Options:
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A,
1. v 9% TEda @I

2. % 9% STh] @T

3. % Tl &r

4, = T AT

Question Number : 99 Question Id : 54592750803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T8 § DI - 9T 9B &7 T IdT! a1 g2
Options:

1. = JIH
2. v RoE
3. % IcpE
4. % 3g

Question Number : 100 Question Id : 54592750804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 3TV, BT DS IUYh ATUD:
Options:

1. * 98 ATch
2. v TEADT BT Site # #g<d

3. * AT 3R derdr

4, » 3= TSaTeaT it

Question Id : 54592750799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension
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A,

S faU 37T IrcTer 1 €I dh U¢ ToT Ucdesh Weel H TN
fahedr # & Tl ahed o

SR HTeT Taoleh T hgalT 2T," ﬁmﬁaﬁg{—dcﬁ T AT
F&IT FAITh FaIH &L ST hl TFT Sellal ahT ATFd gl1" e
TETsh Fes, HATST 2T 3 T FEr e fe@mdr &1 afg gA
AR & AT YU sl 3T <& 9rvar 1 @iy 9 fonair-at-
fordlT 55 qFder T TSITT T3T| HSTCHT e, 37eTEH folshar,
CTereeid @ell Y GEdehl & WA o7 3 TEhRl o 3eleh Slidel
TS FATAT AT| TEAS & AT sl STAT Tl &, 3oTH 3T
R 927 FIdAr &1 3o IOcT 8 T I 3T JUT Medeh &
TehTeT ahl 3T of ATl gl

Sub questions

Question Number : 96 Question Id : 54592750800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TTOE + AN T ThAd Farar §7

Options:

1. % 3T cgiaar &
2. = T@ET &
S.meiﬁ

4, = 3T AR &

Question Number : 97 Question Id : 54592750801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTeH) g{-dch‘i $T HeIST T FIT T IS5 87

Options:

1. % Hood CNEECIREEIL;
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A,

2. » YT T TIIT geleT
3. « Ao forelr aotem &
4. v AT & AR 3y f9aw YT gid &

Question Number : 98 Question Id : 54592750802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HET & FAglel G&NT OT foheept woqra Sz Sirar g7

Options:

1. v 9% GEdhl &I
2. = S STFAAT T
3. = 3gdr3 I

4. = 22 T

Question Number : 99 Question Id : 54592750803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH O Hid - TT A5 HT JTIRITRT A6l &7

Options:

1. = Halcdd
2.@%@'@
3. % 3cohed

<

4. = 3T

Question Number : 100 Question Id : 54592750804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SO 3T T FIg 3UPFd ATh:

Options:

1. = ASES STk
2. v GEARI FT Side H Hgccd

3. * Hew 3N g
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Group Number : 6
Group Id: 5459272516
Group Maximum Duration : 0
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Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
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Disciplinel
Section Id : 5459272516
Section Number : 1
Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273020
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592750805 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The process of exhaling (breathing out) in order to expel
carbon dioxide is called:

Options:

1. = Inspiration
2. v EXpiration
3. » Respiration
4. = Parturition
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A,

Question Number : 101 Question Id : 54592750805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9q8el h THY FI8e 515 HFASS FIEL [dhleld & o0 gry

BISal hT WThAT hl FAT Fhal SATdT &7

Options:

1. = TedHdd

2. v feegge
3. % eddd
4.« vEG

Question Number : 102 Question Id : 54592750806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among the following devices used for humidification, which
device causes heat and water to be retained from expired air
and returned to inspired air?

Options:

1. v Condensers {Swedish nose)

2. » Cold water bubble humidifiers
3. = Water bath humidifiers

4. = Aerosol generators

Question Number : 102 Question Id : 54592750806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTEfHRIOT o ToIT U et ATe=l # &, Hie-a1 AT FTAT
AR Ster ki feearfie ary @ wlduiRa sk 38 weafdd ag
H gy T 3T &7

Options:

1. v g (TAIf8er &)

2. % &3] ITal CEEE] 3TEoRT

3. = STl Tallel Heh
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A,
4. = QOIS STeldcd

Question Number : 103 Question 1d : 54592750807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Deformity caused by shortening of muscles, tendons and
ligaments is called

Options:

1. = Assistance

2. *» Dependent
3. = Disability
4. v Contracture

Question Number : 103 Question Id : 54592750807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATEARIAT, TR 3R 3RUEde HT FAT F FRO géﬁ‘fﬁrsﬁr

AT el ST 87

Options:
1. » Ha&/deh

2. % 3dellesd

3. = TahalTaTdl

4.@%@?

Question Number : 104 Question 1d : 54592750808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is it called when you turn the palm of your hand to face
upwards?

Options:

1. = Inversion
2. » Pronation
3. v Supination
4, = Supervision
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A,

Question Number : 104 Question Id : 54592750808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 3T 39T gdell skl AT & FUT T HE AT g, dF 39

AT el ST 87

Options:

1. = [QelHeT

2. % 3ddlada
3. ¢ 3cdldd
4. % TAIETOT

Question Number : 105 Question Id : 54592750809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The disruption of the circadian rhythm due to travelling
through different time zones is called:

Options:

1. v Jet lag

2. = Sleep automatism
3. » Somnolent

4. = Sleep diary

Question Number : 105 Question Id : 54592750809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e *ra ﬁﬁ#aﬁwwmw,?ﬁa@wwﬁ
Tagca &l AT Far Sdr &7

Options:

1. v 3¢ ol
2. = g ST TEATTedd]
3. = Tolgre]

4. = TIT SRAT
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A,

Question Number : 106 Question Id : 54592750810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following methods is NOT a mechanical method
of artificial ventilation?

Options:

1. » Tank respirators

2. = Volume ventilator pumps
3. v Mouth-to-mouth breathing
4. = Pressure ventilator pumps

Question Number : 106 Question Id : 54592750810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaer fafat & @ *ler-4r, FEA T FuTerel HT Th A1TAh
fafer =T 87

Options:

1. % & eqrggd
2. % AT dl-’:-lj-i-iﬂ Y
3. ¢ Egﬁggﬁﬂhm

4. = oG qGIT U

Question Number : 107 Question Id : 54592750811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is a Peer Review system?

Options:

1. *= An appraisal by the head of the department

2. v An appraisal by professional co-workers of equal status
3. = Patient’s feedback

4. = An appraisal by auditors

Question Number : 107 Question Id : 54592750811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

AghAT THIET UOTell F4AT AT &7

Options:

1. = TI9T 9HE 2anT Hedlha

2. v GATHA TAT F eI TERIADT qRT TRAT IAT HedTohel
3. = QENT FHr gidfshar

4. » SAETILIETRT STRT Hedlehel

Question Number : 108 Question Id : 54592750812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The absence of pathogenic microorganisms is called:

Options:

1. = Vector
2. « Vehicle
3. v Asepsis

4. = Reservoir

Question Number : 108 Question Id : 54592750812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TITTelsh YEASIAT AT TR T FAT Fgl ST &7

Options:

S.ﬁ?mﬁﬁT
4, = T

Question Number : 109 Question Id : 54592750813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Thinking with a purpose” describes the term:

Options:

1. * Deductive thinking
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A,

2. v Critical thinking
3. » Pragmatic thinking
4. = Narrative thinking

Question Number : 109 Question Id : 54592750813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“322 grenm =Ider, e & O foFg ersg-ug T Fd1ar &7

Options:

il

1. % TodTHAICHS T=Iddd

2. v 3TeldelTcHSs =ide

3. » SOTgEIe =idd

[ i
4, = dUIcHD TIdd

Question Number : 110 Question Id : 54592750814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The word ‘nursing’ can be traced back to the Latin word
‘nutrire’ which means:

Options:

1. = to help

2. * 10 serve

3. = to care

4. v 10 nourish

Question Number : 110 Question Id : 54592750814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gR=RIT ereg T 3culcd oifed e " TR (nutrire) & ATT
ST &1 59 9W¥eh ( nutrire ) ST T 37T 8T &7

Options:

1. = HER™IAT hidl
2. = aT LT



https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,
3. % TTHTl hHid]
4. v TYUT HLaAT

Question Number : 111 Question Id : 54592750815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The formula for calculating body mass index (BMI) is:

Options:

1. v weight in kg/height in meter square

2. = welght in g/height in meter square

3. » welght in kg/height In centimeter square
4. = welight in kg/height in millimeter square

Question Number : 111 Question Id : 54592750815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt # & SIsT AT SS9 (SIUA3NS) T 0Tl el T G
T 87

Options:

1. v Tham & aofet / ToT AT & 3415
2. = IqTH H gold / T #HieT 7 1%
3. = Tohalm & golaT / GHIET T H I
4. = ToRam & goler / fAeldART T&f & =8

Question Number : 112 Question Id : 54592750816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The mineral that is an integral part of the enzyme carbonic
anhydrase is:

Options:

1. » Selenium
2. = Nickel
3. v Zinc
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Ao
4. = Magnesium

Question Number : 112 Question 1d : 54592750816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

leT-AT WleTol Failaich UBIZgel USIgH hl 3 Heal 37T §7

Options:

1. = Gelfaga
2. = el
3. v SIEAT
4. = HIAATATH

Question Number : 113 Question Id : 54592750817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the cells, the best source of energy under anaerobic
conditions is the stored

Options:

1. v Glycogen
2. = Lipids
3. = Protein

4. = Creatine

Question Number : 113 Question Id : 54592750817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # O 47 3aay ufaar & dgd SRR # FET F1
a8 3T Gdaid 9id 87

Options:

1. v TellShiold
2. = fofus

3. = et

4, = forufeaT
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A,

Question Number : 114 Question Id : 54592750818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The conjugation of bilirubin is catalysed by:

Options:

1. = ATP glucuronosyl transferase
2. = UTP glucuronosyl transferase
3. v UDP glucuronosyl transferase
4. = ADP glucuronosyl transferase

Question Number : 114 Question Id : 54592750818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fofersiae T TgeAa, foiea A @ TRk ZgRT 3R 8IaT &7

Options:

W

1. = ATP doéghﬂd £3

AL L e

c
2. = UTP TpUielifaer gl
3. v UDP Fe[aielliael giamist

4, = ADP deéghiid‘i'i'ﬁoi TR

Question Number : 115 Question Id : 54592750819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DNA replication occurs in:

Options:

1. * G1 phase
2. = (32 phase
3. v S phase

4. = M phase

Question Number : 115 Question Id : 54592750819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Siuate gfashfa forer =or & gfed grdr 872

Options:
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A,

1. = QT TOT
2. » Q2 TIOT
3. v S TOT
4. = M TIOT

Question Number : 116 Question Id : 54592750820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 1912, German psychologist William Stern divided the
mental age by the chronological age and named this ratio

Options:

1. v Intelligence Quotient

2. * Emotional Quotient

3. = Social Quotient

4. = Developmental Quotient

Question Number : 116 Question Id : 54592750820 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0.25

1912 H, JHAA HAdlddAlladeh ATeldH ol o chlona_lqamch Hger
I AT 3EEAT § AT fohar 3w uree 3reura 1 ot
A O =7 arF7 &=Jr?

Options:

1. v gﬁﬂﬁﬂ
2. » HTIATcHS olsy
3. = HTATSR oITsaT

4. » TQRTOTICHF oITseT

Question Number : 117 Question Id : 54592750821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Classical conditioning used to undo or relieve bodily
responses and fearful feelings is termed as:

Options:

1. = Relaxation Technique

2. v Systematic Desensitisation

3. = Cognitive Behavioral Therapy
4. = Behavioral Therapy

Question Number : 117 Question Id : 54592750821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RRUTATSST UTefsheret, SIS TARRITST 3R $ATGE ATTT3T
o SITT 3TYAT e o TolT U=AeT foham STaT 2T, 38 SdTal aroll
URHTNR oTsg AT &7

Options:

IR L IGERSEGIED

2. v cgafedd fagangeior
3. « TATATcHS cIdgRien feraar

4. » TYIERIS RIThcd

Question Number : 118 Question Id : 54592750822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A somatoform disorder marked by excessive preoccupation
with fears of having a serious illness is called:

Options:

1. » Neurasthenia

2. = Conversion Disorder

3. v Hypochondriasis

4. = Body Dysmorphic Disorder

Question Number : 118 Question 1d : 54592750822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,
AT =Iar & @ TR SIART 8l o 9T 8 & Ullead
AT eI W37 T FAT Hal SIdT &7

Options:

1. % JHAFREIE

2. % HAITdSad

3. v TTHH
4. % I HEI! IEEQC!

Question Number : 119 Question 1d : 54592750823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The application of psychological theory and research to
health, illness and health care 1s termed as:

Options:

1. = Abnormal psychology

2. * Developmental psychology
3. = (Clinical psychology

4. v Health psychology

Question Number : 119 Question Id : 54592750823 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A Alfeer FAETd dur Fareed, a1y 3N w&aezg dar & fov
W%aﬂﬂ'ﬂ’maﬁ AT HaEl SATaT &7

Options:

1. % METHTET HAlTd AT
2. » TAhTIIcHS Hald aATa
3. » RIThcOT AT AT

4. v TIELT AT ATe

Question Number : 120 Question 1d : 54592750824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

is a condition in which an individual of one gender
has external genitalia superficially resembling those of the
other gender, causing doubt as one’s true gender.

Options:

1. v Pseudo Hermaphroditism

2. = True Hermaphroditism
3. = Uterus didelphys
4. = Bicornuate uterus

Question Number : 120 Question Id : 54592750824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forT # @ Sia-dn, v 0T ufa &, fogd v oo @y &7
ST STelalleT, TR 9 & 3 e Toldll & FAST JdT &,
oog gz =g &1 & aags e wda gar 22

Options:

1. v SH-39Telarar

2. » TATATIASR IHATelaTdT
3. % AT SEShy
4. = TeaepEl AR

Discipline2
Group Number : 7
Group Id: 5459272517
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0
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adtab

Discipline?2
Section Id : 5459272517
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273021
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592750825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The regulation and maintenance of normal tissue requires a
balance between cell proliferation and programmed cell
death. This is called:

Options:

1. « Gangrene
2. v Apoptosis
3. » Necrosis
4. = Atrophy

Question Number : 121 Question Id : 54592750825 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT S & aad« 3R WEE & fov R m=igdd
3N MITHATFT RIRIRT Fcg F T Tcolel hT AT Bl ¢
SH FIT gl Sl &7

Options:

1. % hrer

2. v ugreafag
3. % Zcdherd
4, = &ordr
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A,

Question Number : 122 Question Id : 54592750826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per guidelines developed by the National Cholesterol
Education Program for the evaluation of plasma cholesterol
in adults, a value of 240 mg/dl. or greater in initial
classification based on the total cholesterol is identified as:

Options:

1. = desirable blood cholesterol

2. = borderline high blood cholesterol
3. v high blood cholesterol

4. = Jow blood cholesterol

Question Number : 122 Question Id : 54592750826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUEHT H TATGHT hlelegiol o Hodlhel o TolT ICET hlelEgio
foreTT FrishA ZarT fawfad feenfacem & 3@, Fel Hrelrgia
F YN W YRAF geffereor A 240 Heend / dL a1 599
3T T e # O forad aResa g 87

Options:

1. = TTSATT TFd hlelecial
2. 3t & hlelediel hl GTHAT

3. v 3T T&Fd hleledia

4, = TolFel ToFd FlelEcial

Question Number : 123 Question Id : 54592750827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the condition that is characterised by the combination
of an elevated level of serum Thyroid Stimulating Hormone
(TSH) and a low level of serum free T4 (Thyroxine).

Options:
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A,

1. = Hyperaldosteronism
2. * Hyperthyroidism

3. v Hypothyroidism

4. = Cushing syndrome

Question Number : 123 Question Id : 54592750827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR UrRTgs Eeadicer gt (TSH) & vk 3 Fav 3R
WA #qFd T4 (FRFae) & faea TR F Tt H F
al SdT &7

Options:

1. = 3TT VesIEdeadr
2. * 3A¢ sfafsraar
3. v 3¢ AT TohId]

4.&3:&%14?%

Question Number : 124 Question Id : 54592750828 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A heterogeneous form of diabetes that commonly occurs in
people who are older than 40 years is called:

Options:

1. = Type 1 diabetes mellitus

2. v Type 2 diabetes mellitus

3. » Gestational diabetes mellitus
4. = Impaired glucose tolerance

Question Number : 124 Question Id : 54592750828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HYAE 1 38 [ATH T FT AT gl ST §, S AN T 40
a¥ @ 31faeh g & SR R OET 87
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A,

Options:

1.wa3tr1ﬁgﬁg
2.@63"3[234'%
3. » TIAATSeT HYAT

4. # 3769 TohleaEIdl

Question Number : 125 Question 1d : 54592750829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s/are the most commonly used drug for initial blood
pressure reduction.

Options:

1. v Thiazide diuretic
2. » Beta-blockers
3. = Calcium channel blockers

4. = Angiotensin-receptor blockers

Question Number : 125 Question Id : 54592750829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

URTHE FdAT o A Bldd 9L TTATCIT: Sid-8T a7 I STIET
foRam ST 87

Options:

Question Number : 126 Question 1d : 54592750830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

Name the vaccine that should be given to people at high risk
for pneumonia, which includes adults who are 65 years or
older.

Options:

1. = MMR Vaccine
2. v Pneumococcal Vaccine

3. » Influenza Vaccine
4. =« BCG Vaccine

Question Number : 126 Question Id : 54592750830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 & T 1A SV, S SgAAT & felv 3w SfEA arel
oen (SIeTd 65 a¥ AT 3HH 378k 3 F NeT AMA &)
fear ST Tfge?

Options:

1. » MMR &reT

2. v rq“a-ﬁch‘ichei AED

3. » ZoUelUSl FT e
4. » BCG Erehr

Question Number : 127 Question 1d : 54592750831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

All women suspected of having pneumonia should undergo
to establish the diagnosis and to detect alternate
diagnoses such as congestive heart failure and tumours.

Options:

1. » Magnetic Resonance Imaging
2. = Electrocardiography
3. v Chest Radiography
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Ao
4. = Positron Emission Tomography

Question Number : 127 Question 1d : 54592750831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Blel T Hog arell FHT A3 HI folareT & feiv 3R
TFAIET gedTd 3 3ge S8 dehfedsh folale FT 9T oRme
T Sia-dT I T Aee?

Options:

1. » IFehI 3fefelle fciaasiel

)
2. » Tocgdgeoa

e

3. v BIAT hT IEIETHT

4. = GAT] Icq9d 3ol

Question Number : 128 Question Id : 54592750832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a respiratory condition defined as
inflammation of the distal lung, that includes terminal
alrways, alveolar spaces and the interstitium.

Options:

1. = Acute bronchitis

2. = QOtitis media
3. # Sinusitis
4. v Pieumonia

Question Number : 128 Question Id : 54592750832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & @ FI9-0T Uk T TFHT F Fold & ¥ H
TR U OO eque [rufa &, forwd effster argaATe,
TR T 3R FeTEETEIA (interstitium) 81T &7

Options:
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A
1. % drg eggairemes
2. = FEIRUTLET

3. % m«g'fadwl‘rir
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Question Number : 129 Question Id : 54592750833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s an inflammatory condition of the
tracheobronchial tree.

Options:

1. v Acute bronchitis

2. = (Otitis media
3. = Sinusitis
4. = Pneumonia

Question Number : 129 Question Id : 54592750833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFa & O Hia-T7 eGEYvTell H &lel dlell Ueh MY hI Bufa &7

Options:

1. v dIT egdeirees
2. = FEIRUTATY
3. = FfaaTny
4. = FFAAT

oy,

Question Number : 130 Question Id : 54592750834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a simple measure of central obesity.

Options:

1. = Body Mass Index
2. v Waist-to-hip ratio
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A,

3. » Height-to-weight ratio
4. = Total body surface area

Question Number : 130 Question Id : 54592750834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

held TURIAT T Ush TIeT TRATOT el T 872

Options:

1. = §ial AT o4

2. v Tade &T F ﬁai?;ljm?-r

3. * Tolel-O-HTT 3TeTUT
4, = Fel eI hT Tdar A

Question Number : 131 Question Id : 54592750835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After ovulation, the remaining follicular shell is transformed
into the primary regulator of the luteal phase, which is
termed as:

Options:

1. = Implantation

2. = Menstruation

3. v Corpus luteum
4. = Corpora albicans

Question Number : 131 Question Id : 54592750835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEgerror & meard AW ik Fad cgfeIde WEEAT TOT K
T HE RTHS H el ol &, 59 T hal Sdr &7

Options:

1. = 39T
2. % JIEATT

e
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A,
3. v UIdus
4. = °ad M=

Question Number : 132 Question Id : 54592750836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the hormone that controls the secretion of luteinising
hormone and follicle-stimulating hormone.

Options:

1. * Growth hormone-releasing hormone
2. = Corticotropin-releasing hormone

3. » Thyrotropin-releasing hormone

4. v Gonadotropin-releasing hormone

Question Number : 132 Question Id : 54592750836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ISR gTATT 3R Jehlaieds gMAfT & a1 T faafid wia

gTel &TAT hl AT hal STl o7

[ o~ Y "

. * dla pldled-HITled plHlel

Question Number : 133 Question Id : 54592750837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a child who 1s older than 1 year is choking, abdominal
thrusts may be performed on him/her. This is otherwise
called:

Options:

1. v Heimlich manoeuvre
2. » Back blows
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A,

3. * Mouth-to-mouth breathing
4. = Chest compressions

Question Number : 133 Question Id : 54592750837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg 1 a¥ Fr 3Ry FT STerR Foged (GRY) & W, ar
3TRT USSITHTS A [T ST GehaT &, 3O T Fhed &7

Options:

‘I.J%‘ﬁ?«!ﬂ'?ﬁ?
2. = §h sall

3. » AETAAE LTHT
4. = died # GUIS

Question Number : 134 Question Id : 54592750838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The desired sites for lumbar puncture are the interspaces
between the posterior elements of:

Options:

1. = C5 and C6
2. % T11 and T12
3.vL3and L4
4. = 84 and S5

Question Number : 134 Question Id : 54592750838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fie ag & T aifeg F9e, e § I Fg 72T daar & &g
& AU 87

1. = C5 3 C6
2. = T11 3T T12
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A,
3. v L3 3T L4
4. = S4 3T S5

Question Number : 135 Question Id : 54592750839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is a common sign of danger in
children?

Options:

1. = Increased activity

2. v Drowsiness

3. # Increased feeding

4. = Increased urine output

Question Number : 135 Question Id : 54592750839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFad & & Hid-aT Il # Ty FT Teh TATHET Tohd &7

Options:
1. « afafafer o ofy
2. v dgar

3. = 3MBR A gy

c

4. « T A &

Question Number : 136 Question Id : 54592750840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An immunologic disorder in which gluten, a product most
commeonly found in grains, causes damage to the small
intestine is called:

Options:

1. = Irritable Bowel Syndrome
2. = Hypertrophic Pyloric Stenosis
3. v Celiac disease
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Ao
4. = Appendicitis

Question Number : 136 Question 1d : 54592750840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 UfCRETT TR T T gl SIar &, o FH To[del sl ucsh
(ST 37T 31T 91T ST §), SIS 3T F ahdlel

$NUT FodTl &7

Options:

1. % 3R oA TEALUT (SRITT Tdel ZIH)
2. % BIBUICItheh USallNeh TeaAad
3. v difeluar Qar

4. = SR
) )

Question Number : 137 Question Id : 54592750841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Scale that have an absolute or true zero of measurement is
referred as:

Options:

1. * Nominal
2. » Ordinal
3. = Interval
4. v Ratio

Question Number : 137 Question Id : 54592750841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATT FT foTT8T A7 FET e aTeT Tohel Tord Tafad fohar Srar
8

Options:

1. = SITHHTT

2. % ShHh
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3. % 3aTel
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Question Number : 138 Question Id : 54592750842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a very rapid, irregular eye movement. It is
described by some as ‘bouncing’ of the eyes.

Options:

1. = Strabismus

2. = Astigmatism
3. v Nystagmus
4. = Amblyopia

Question Number : 138 Question Id : 54592750842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Th FE ﬁd,ﬁﬁ'ﬂﬁ?—fﬁ??ﬁ%l%ﬁ;ﬂaﬁﬁ
ORI 3TET T FI3THT o & H gioid fohar a=m |

Options:

Question Number : 139 Question Id : 54592750843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following terms refers to vision of less than
20/200 or peripheral vision less than 20 degrees?

Options:

1. = Retinopathy of prematurity
2. v Legal blindness
3. # Vision impairment
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Ao
4. = Blindness

Question Number : 139 Question 1d : 54592750843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeT # O hia-ar U, 20/200 @ & IT 20 =2y & A HT
ey T #r d@efifa swar &7

Options:

1. » FHIIAAT T ITeaarda

o,

L Ty

2. v Fsfal (ellaTel) 37T
3. = give &ftorar
4. % YTl

Question Number : 140 Question Id : 54592750844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Peeling of the perineal region, fingers and toes, extending to
the palms and soles is observed in which disease?

Options:

1. = Endocarditis

2. » Rheumatic fever

3. = Cardiomyopathy

4. v Kawasaki disease

Question Number : 140 Question 1d : 54592750844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oy 3T doa dchﬂa?»?rg‘éf,ﬂﬂaﬁtrﬂm,é?rﬁa’fsmm
T STt T BreTar, HieT-AT T Fgelldl &7

Options:
1. = 3eceaeny
2. = MTHAIdS Sdl

3. » geuelr fapfa
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Discipline3
Group Number : 8
Group Id: 5459272518
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline3
Section Id : 5459272518
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273022
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592750845 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

Afan atrial septal defect (ASD) is located in the most

anterior and inferior aspect of the atrial septum.

Options:

1. v Ostium Primum

2. #» Ostium Secundum
3. = Sinus Venosus defect
4. = Tricuspid Atresia
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A GET IT ON

Adda247 Google Play

Question Number : 141 Question Id : 54592750845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Afeleuealy (ASD) 3ifelq dter & Fod qashrel 3R
AT uge] H BT &

Options:

1. v 3ETT USAC
2. » EcTA AdhsA
3. * WIgad YF aIy
4, = grERAUS 3T

Question Number : 142 Question Id : 54592750846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An infection and inflammation of the skin of the external ear
canal is called

Options:

1. v Otitis externa
2. = Acute Otitis Media
3. = Otitis media with effusion

4. » Hearing loss and deafness

Question Number : 142 Question Id : 54592750846 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

STgT U1 TSRl T Tl & HhAUT I Holol Rl FAT FHg
ST &7

Options:

1. v STET HORNY

2. % dIg HET ORI

3. = HET HURNY YT

4, = Hqour &fd 3T ST
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A,

Question Number : 143 Question Id : 54592750847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the condition in which the aorta arises from the right
ventricle and the pulmonary artery arises from the left
ventricle.

Options:

1. = Aortic Stenosis

2. v Transposition of the Great Vessels

3. » Total Anomalous Pulmonary Venous Connection
4. = Coarctation of the Aorta

Question Number : 143 Question Id : 54592750847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

arigel foorr @ arser 3T AV foory & GoGaEr aaer
frordl &, 39 TEUTd I FAT Fal AT &7

Options:

1. % FHBTIHST TehroTdar

2. v S dlghIAT T AT HaIoT

3. » qUT fawed HUha RS dae
4, = FETIHAT T HHedd

Question Number : 144 Question Id : 54592750848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pulmonary veins, instead of joining the left atrium, is
connected anomalously to result in the total pulmonary
venous blood reaching the right atrium. In which of the
following conditions is this seen?

Options:

1. = Aortic Stenosis

2. = Transposition of the Great Vessels
3. v Total Anomalous Pulmonary Venous Connection
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Ao
4. = Coarctation of the Aorta

Question Number : 144 Question 1d : 54592750848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FHBTIHST TehroTdar

2. = FT gTigehr3l T BT 37ayor
3.J@WWWW
4, = FETIHAT T THedd

Question Number : 145 Question Id : 54592750849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the most common and safest analgesic and
antipyretic given to children.

Options:

1. = Digoxin

2. v Acetaminophen
3. = Anticholinergics
4. = Benzodiazepines

Question Number : 145 Question Id : 54592750849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sl I feT Siet aren Tl A 3 Jed ST deeg
AT SaET i A1 87

Options:

1. % STISIFge

2. v UTHeIT AT
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4. = Teeaifearaiuag

Question Number : 146 Question Id : 54592750850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two-thumb technique of chest compression is used in infants
who are aged

Options:

1. v less than 1 year

2. % 1-8years
3. % 812 years
4. = above 13 years

Question Number : 146 Question Id : 54592750850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore 3 & TRIRIT & STAT TS HT &I-37[S AT Tehelleh I
3UgieT foRaT STaT &7

Options:

1. v T a¥ & FH
2. % 1-8 @Y

3. » 8 -12 @¥
4, = 13 ¥ I IW

Question Number : 147 Question Id : 54592750851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An anaphylactic reaction depends on the antibody:

Options:

1. = IgG
2. % IgA
3.« IgM
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A,
4. v IgE

Question Number : 147 Question 1d : 54592750851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dreamer widfshar, fra widius oX sl sedr §7

Options:
1. = 1gG
2. = IgA
3. = IgM
4. v IgE

Question Number : 148 Question 1d : 54592750852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rod-shaped bacteria are called:

Options:

1. = Coccl

2. v Bacilli

3. » Vibrio

4. = Spirochaete

Question Number : 148 Question Id : 54592750852 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

B8 o AN & SFIAT hT FAT hal ST &7

Options:

1. = Hiferd
2. v afaer
3. » fafs=r
4. = TNV (TARRIFIC)

Question Number : 149 Question Id : 54592750853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

1s a long, whip-like structure that helps some single
celled organisms move.

Options:

1. v Flagellum

2.« Fimbria
3. = Nucleus
4, « Mitochondrion

Question Number : 149 Question Id : 54592750853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFet & @ Fla-HdT v &, AGF ST THAT 8, SN FSF TRl
hITRIRT aTel STTAT hl TATATART Flad H HEE hldl &7

Options:

1. v hemiaRT
2. % STeodr

3. = Y[FelTd

4. = FARTOIRT

o,

Question Number : 150 Question Id : 54592750854 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a physical agent for sterilisation.

Options:

1. = Halogen

2. = Phenol

3. v Radiation

4. = Surface active agent

Question Number : 150 Question Id : 54592750854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeT # & Fia-a1 gEdior & v v Hifdew (hisied) Teie
&7
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-
Options:

1. = gollelel

2. = Thellel

3. v Tafergor

4, = §dg IpdT Tsle

Question Number : 151 Question Id : 54592750855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Smooth muscle tumours of the uterus are called:

Options:

1. » Adenocarcinoma
2. v Lelomyoma

3. * Endometriosis

4. = Osteoblastoma

Question Number : 151 Question Id : 54592750855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATHTL T TIehell ATHUATRIIT o AT I FIT Hgl SAIcl 57

Options:

1. » ATARITEAHAT

2. v oIITHTIIAT

3. = 3TCOTHIT 3EATeTT
4. = 3TEARIRIFTY 3o

Question Number : 152 Question Id : 54592750856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s an endogenous pain control neurotransmitter.

Options:

1. = Acetylcholine
2. » Substance P


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

3. v Endorphin
4, » Adrenaline

Question Number : 152 Question Id : 54592750856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # O FiT-a1 vk 3deiia &g fagzor afFesr gaes
(FIUEHAR) &7

Options:

1. = efafeasena
2. = Uarey P
3. v UssIThe

4, = UgeTellgd

Question Number : 153 Question Id : 54592750857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The postpartum period is:

Options:

1. v from birth to six weeks

2. * from birth to eight weeks
3. = from birth to ten weeks

4. = from birth to twelve weeks

Question Number : 153 Question 1d : 54592750857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THdlcay 3y, g 3afd &7 gl Sdr &7

Options:

1. v Sled O B dIg deh

. % SoH 8 S vdig deh

2
3. » Sled T ot T ITdlg de
4

. % Sled B olehl gHE TTAE deh
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A,

Question Number : 154 Question Id : 54592750858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An inflammation of the fallopian tube is called:

Options:

1. = Qophoritis
2. v Salpingitis
3. = Cervicitis
4, = Vaginitis

Question Number : 154 Question Id : 54592750858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SSIaTigaiT sTell =hT Holel I FAT HFT AT &7

Options:

1. = TSearfremy

2. v TSaarigeirenes
3. = ISTRIIIHTATY
4, » Fiferemeys

Question Number : 155 Question Id : 54592750859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The second trimester of pregnancy is from:

Options:

1. v 14-28 weeks
2. » 0-7 weeks
3. = 0-14 weeks
4. » 28-36 weeks

Question Number : 155 Question Id : 54592750859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITSTaEAT HT gERT AT FiT-Ar BT §7

Options:
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Question Number : 156 Question Id : 54592750860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT seen in menopause?

Options:

1. = Increased risk of osteoporosis

2. v Decreased risk of cardiovascular problems
3. » Shrinkage of uterus

4. = Lack of menstrual cycle

Question Number : 156 Question Id : 54592750860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt # & Fia-ar1 T&lfolgicd H sTar a@m S &7

Options:

1.« SITEAFETAT HT THT &6 ST 8

2. v g2T T9dl GEEAT3 T WA HFH gl
3. = TR FT AT

4, = FAIGHR 98 T FAT

Question Number : 157 Question 1d : 54592750861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Early detection of cervical cancer can be done by:

Options:

1. » X-ray
2. v Pap smear
3. » Ultrasonogram
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Ao
4. = Hormone levels

Question Number : 157 Question 1d : 54592750861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fohdeh SaRT ITHTRT AT h haT T STec IdT ol Hehd &7

Options:

1. » TFE-T
2. v U0 TARY
3. % 3TecAlIaTH

4. = BTATT T

Question Number : 158 Question Id : 54592750862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Collapsing of alveolar sacs leads to:

Options:

1. = Pneumonia

2. « Bronchitis
3. v Atelectasis
4. = Bronchiectasis

Question Number : 158 Question Id : 54592750862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR dolt & fAUTd & 471 81 S 87

Options:

1. = sgAferaT
2. = egH[aTehT oMer
3. v @EUY

4. » 9«7 AERR

Question Number : 159 Question Id : 54592750863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

ST elevation in ECG is seen in:

Options:

1. v Myocardial infarction
2. » Hypokalaemia

3. » Bundle branch block
4. = Heart failure

Question Number : 159 Question 1d : 54592750863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UG # THET T 6T, T &@dar §7

Options:

1. v geuelr Tearele
2. = BISUleliadl

3. * 3¢l §Td sollh

4. = BT R Bh ATl

Question Number : 160 Question Id : 54592750864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which one of the following is NOT a type of regional
anaesthesia?

Options:

1. v General anaesthesia
2. = Nerve block

3. = Epidural anaesthesia
4. = Spinal anaesthesia

Question Number : 160 Question Id : 54592750864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeT A & HIT-9T TATHT ASATEILOT T Teh Uh a6l &7

Options:

1. v GTHTT TAEaATaIor
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Discipline4
Group Number : 9
Group Id : 5459272519
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline4
Section Id : 5459272519
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Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592750865 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

In which condition is binge eating followed by excessive

vomiting observed?

Options:

1. = Anorexia
2. = Cachexia
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A,

3. v Bulimia
4. = Cretinism

Question Number : 161 Question Id : 54592750865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

org Bafa & 39 mmear @« & e IafaF 3o glar &7

Options:

1. = UARTFEAT
2. = hdforaar
S.w@jﬁm
4, = SlalTqel

Question Number : 162 Question Id : 54592750866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following 1s NOT a sign of dehydration?

Options:

1. = Tachycardia

2. v Bradypnoea

3. = Decreased urine output
4. = Increased urea level

Question Number : 162 Question Id : 54592750866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TolFel # O FleT-AT TolSTollehLUT T Tehdd aal &7

Options:
1. = gaierser

2. v HE eddd

3. = HT H FHAT

4. » JRAT T T TG

Question Number : 163 Question 1d : 54592750867 Question Type: MCQ Option Shuffling: Yes
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A,

Correct Marks: 1 Wrong Marks: 0.25

1s the primary cause of tetany.

Options:

1. v Hypocalcemia
2. » Hypercalcemia
3. * Hyponatremia
4. = Hypernatremia

Question Number : 163 Question Id : 54592750867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IRl T WTATHS FHROT FAT &7

Options:

1. v EIEUlchieEH T

2. = 37TcIoh R TIHTFIT
3. = HeUAITSITFAIFIAT
4, = AfcEIsTaTFIar

Question Number : 164 Question Id : 54592750868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are units of social structure?

Options:

1. v Institutions

2. = Political parties
3. » Trade unions
4. = Tribes

Question Number : 164 Question Id : 54592750868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeet & Fl-a Ao dear $1 st 87

1. v OEAT
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A,

2. % Tolallladeh ol
3. * 23 Yo
4. = STl

Question Number : 165 Question 1d : 54592750869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Rehabilitation Council of India (RCI) was set up as a
registered society in 1986 under the:

Options:

1. = State Government
2. v Ministry of Health and Family Welfare
3. = Soclety of India

4. = Central Government

Question Number : 165 Question Id : 54592750869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A qoraE TREe (RCI) T FUT9=r 1986 & U Tofiehd]
AEE % &9 3 FrES arehe B O A7

Options:

1. = T TIHN

2. v T 3 IRER FAT0T HATo
3. = T ATH 4T

4. = kgl TLHRR

Question Number : 166 Question Id : 54592750870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An area of social living marked by some degree of social
coherence 1s called:

Options:

1. = Soclety


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

B
2. » State

3. v Community
4. = Group

Question Number : 166 Question Id : 54592750870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$5 §G I GTHTTSTh HIHSET a1 [gad, ararfereh siad

o Uk & R FAT hal ST 57

Options:

1. = HHATS

2. = o
S.Jiq?fl:?ﬂ?r
4, = OHE

Question Number : 167 Question Id : 54592750871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a type of natural disaster?

Options:

1. = Tectonic

2. v Chemical

3. = Meteorological
4. = Topological

Question Number : 167 Question Id : 54592750871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot # & SleT-AT JThicieh 3YET T Teh YohN oal &7

Options:

1. » Badfe=
2. v A

3. » HANGHE gadr
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Question Number : 168 Question 1d : 54592750872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How do a majority of Anthrax infections occur?

Options:

1. v Via skin contact

2. = Through inhalation

3. #» Via biological vectors

4. = Via the gastrointestinal tract

Question Number : 168 Question 1d : 54592750872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v cadl &1 9k

2. = 919 & ATEIH &

3. = gk dFeT & ATIH @
4. » SSTT G4l AN

Question Number : 169 Question Id : 54592750873 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The proper method of disposal of human anatomical tissue
and organs Is

Options:

1. = disposal in municipal landfill

2. = disinfection by chemical treatment
3. » microwaving
4. v deep burial

Question Number : 169 Question Id : 54592750873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = SAUTTeIoRT 3TUT9SE T8 T A uere

2. « qHAG 3UAR ZaRT TAHhATRIOT

3. * FEH LT AN

4. v IEE H Thel TN

Question Number : 170 Question 1d : 54592750874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

United Nations Organization (UNQO) was established in:

Options:

1. = 1943
2. % 1944
3.+ 1945
4. = 1946

Question Number : 170 Question Id : 54592750874 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

HIFT IS¢ Tl (UNO) T TATal fohay ay shr a5 of1?

Options:

1. = 1943
2. = 1944
3. v 1945
4. = 1946

Question Number : 171 Question 1d : 54592750875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the given various contraceptive methods, which has a high
level of failure rate?
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Options:

1. v Spermicide

2. = Condom
3. = IUD
4. = Norplant

Question Number : 171 Question Id : 54592750875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few av fafdes meifaas gt # 8, fFgd 3= o
fatherdr gT gidr &7

Options:
1. v RIOTETRT
2. % HEIH

3. = [UD

4. = ARTEIE

Question Number : 172 Question Id : 54592750876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Infant mortality rate (IMR) is defined as the number of infant
deaths per live births in one year.

Options:

1. = 100000
2. » 10000
3.+ 1000
4. = 100

Question Number : 172 Question Id : 54592750876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 100000
2. = 10000
3. v 1000
4. = 100

Question Number : 173 Question Id : 54592750877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The human ear can perceive sound between:

Options:

1. = 200 and 20000 Hz
2. % 2 and 2000 Hz

3. = 20 and 2000 Hz
4. v 20 and 20000 Hz

Question Number : 173 Question Id : 54592750877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATeld il & oM $T edfel AgHE F Fohd &

Options:

1. = 200 3T 20000 Hz
2. = 2 3T 2000 Hz
3. = 20 3T 2000 Hz
4. v 20 3T 20000 Hz

Question Number : 174 Question Id : 54592750878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An example of electromagnetic radiation is:
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A,

Options:

1. v X-rays

2. = alpha particles
3. » beta particles
4. » nieutrons

Question Number : 174 Question Id : 54592750878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forrmet & & a7 faegd Trochrar ARRToT @1 3aTERoT §7

Options:

1. v TFE-T

2. % 3¢l U]
3. % &IaT T
4. T

% Fglel

Question Number : 175 Question Id : 54592750879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Leishmaniasis is spread by the bite of a certain type of

Options:

1. v Sand fly

2. » Tsetse fly
3. = Black fly
4. = House fly

Question Number : 175 Question Id : 54592750879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

erdfaaar, fara # & forgehr v [y uafa & e O
therdT &7

Options:

1. v SSHFET
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Question Number : 176 Question 1d : 54592750880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bird flu is a contagious disease of animals caused by:

Options:

1. = Variola virus

2. v HIN1 virus

3. = Varicella-zoster virus
4. = Rubeola virus

Question Number : 176 Question Id : 54592750880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 We ULl hr Uk TohiAk AN &, S e & @ fhas
ZaRT BIdr &7

Options:

1. = AT aRRA
2. v HINT ar=&3d
3. = JTST ANEET T

4. = TeelT Iradd

Question Number : 177 Question Id : 54592750881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a causative agent of scabies.

Options:

1. = Louse
2. v Itch mite
3. » Hard tick
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Ao
4. = Soft tick

Question Number : 177 Question 1d : 54592750881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farar A @ FIT-AT FoTell FT Tk Wk Tolc §7

omons:
1.«

2. v W@l gdaiar
3. = FoN fhelal
4. » FATAA ToRelalr

Question Number : 178 Question Id : 54592750882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The hormone stimulates the mammary glands to
produce milk (lactation) in breast feeding mothers.

Options:

1. ¥ Prolactin

2. = Vasopressin
3. » Aldosterone
4. = Adrenaline

Question Number : 178 Question Id : 54592750882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 AT T FT oH §, S g TUellel aTell A3 & Fe H
IY 3cUTEsT (elsheerel) & Tolv Ecel ATAAT T Iedfold LT 872

Options:

1. v Uellded
2. = q@mTEe
3. * UeBelld
4

. % UgdTcllgel
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Question Number : 179 Question Id : 54592750883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average amount of blood loss during a menstrual cycle is:

Options:

1. = 200-250 ml
2. v 20-80 ml

3. % 40-120 ml
4. » 120-160 ml

Question Number : 179 Question Id : 54592750883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR @ & aler Tod g1fer S siaa AT frdelr grr &7

Options:

1. = 200-250 THel
2. v 20-80 fHel

3. = 40-120 &y
4. = 120-160 THel

Question Number : 180 Question Id : 54592750884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Corpus luteum secretes:

Options:

1. v Estrogen and Progesterone
2. = Androgens

3. = Prolactin

4. = Corticosteroids

Question Number : 180 Question Id : 54592750884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9rq [T, o & o fraar g1 e &7

Options:
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Question Number : 181 Question Id : 54592750885 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Cowper’s gland is located beneath the at the
beginning of the internal portion of the penis.

Options:

1. = Testis
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A,

2. v Prostate gland
3. » Vas deferens
4. = Epididymis

Question Number : 181 Question Id : 54592750885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FI3T FT AT 9T & 3aNH Hldl‘cﬁrﬁgaﬂ?-rﬁﬁw‘ﬂﬁ?c‘rﬂ?}
eora gidar &7

Options:

1.« gyor
2. v UIEeE AT
3. = O SWH
4. = 3TV

Question Number : 182 Question Id : 54592750886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

is the cause of secondary amenorrhoea.

Options:

1. = Turner syndrome
2. = Anorexia

3. * Bulimia

4. v Breast feeding

Question Number : 182 Question Id : 54592750886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaFer & & +ia-ar Cadiges 31aTda T R &7

Options:

1. = o O3
2. = UARTRTAT
3. » sgTITAAT

M
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Question Number : 183 Question 1d : 54592750887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s another name for painful menstruation.

Options:

1. * Amenorrhoea

2. v Dysmenorrhea

3. » Menorrhagia

4. = Qligomenorrhoea

Question Number : 183 Question 1d : 54592750887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et # @ Fie-AT1, aEalTeh AGART (ATREF UH) T GET ATH &7

Options:

1. » 3aTad
2. v &S
3. * 3cATAd
4, = ETEIRT 3edTad

Question Number : 184 Question Id : 54592750888 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a barrier method of contraception.

Options:

1. = Intrauterine device (IUD)
2. » Vasectomy

3. * Tubectomy

4. v Cervical cap

Question Number : 184 Question Id : 54592750888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt # O Hia-ar TiTaraeh hT Th STAT-UOTTell &7
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Options:
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2. % U oHEd]

3. » Afge ageer

4. v G YT

Question Number : 185 Question 1d : 54592750889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s also known as “‘Condylomata accuminata’.

Options:

1. = Gonorrheal infection
2. » Trachoma

3. v Venereal warts

4. = Herpes infection

Question Number : 185 Question Id : 54592750889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fower & & hleT-aT, FifesedlAT TFeiAeTar & &7 F 81 e
ST 87

Options:

1. % LA hl HhHUI
2. % ¢oplAT

3. v débdidl T AEd]

4. = LU GhAUI

Question Number : 186 Question Id : 54592750890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bacterial vaginosis is caused by:

Options:

1. *= Herpes simplex virus
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2. = Trichomonas vaginalis
3. v Gardnerella vaginalis
4. = Nelsseria gonorrhoeae

Question Number : 186 Question Id : 54592750890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frge FROT & SFERTe afeafag &7

Options:

1. = §Iel guiolel
2. * TIARIAAE Aiolafold
3. v dMESaer aieialed

4, = ATARAT MEANES

Question Number : 187 Question Id : 54592750891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Triple marker test is done to detect:

Options:

1. v Down syndrome

2. = Pregnancy
3. = Qvarian cancer
4. » Endometrial cancer

Question Number : 187 Question 1d : 54592750891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
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Options:

1. v 33 O3A
2. % ITHTTELT
3. % 37ETeRY FaT
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Question Number : 188 Question 1d : 54592750892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Foramen ovale is situated between the:

Options:

1. = right atrium and right ventricle

2. = right and left ventricle
3. v right and left atrium
4. = left atrium and left ventricle

Question Number : 188 Question 1d : 54592750892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ER U ot & @ eass O g gar 27

Options:

1. = grAT 3felg 3T =T foer
2. = T AR ST oo
3. v arar 3R s 3fel
4. « g7 3Mfeg 3 ST fororr

Question Number : 189 Question Id : 54592750893 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The entry of more than one sperm into the ovum is done by:

Options:

1. v Zona pellucida

2. » Zona fasciculata
3. = Zona reticularis
4. = Zona glomerulosa

Question Number : 189 Question Id : 54592750893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A,

f3q & vk @ 3fAF rh1oy 7 vder, foest A & T aarr
=T Srar £

Options:

1. v ST WBT

2. * ST TrETeld]
3. * SWa IeHemia
4, = ST TATASAET

Question Number : 190 Question 1d : 54592750894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Morula is a mass of:

Options:

1. = 4 cells
2. % 8 cells
3.~ 16 cells
4. = 32 cells

Question Number : 190 Question Id : 54592750894 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao, Taeat # 8 TRl ZeddATd &7

Options:

1. » 4 IR T
2. = 8 SHITIARIIAT =T
3. v 16 I3
4. = 32 RILAFRTAT FT

Question Number : 191 Question Id : 54592750895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the embryo, the first heart beat occurs at:

Options:
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A,

1. » 2 weeks
2. v 5 weeks
3. = 8 weeks
4. = 10 weeks

Question Number : 191 Question Id : 54592750895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HOT H, Ygell TR f&oT Fd ¥shar 87

Options:

1. = 2 HtAlg
2. v b Otdg
3. = 8 Htdg
4. = 10 Gcdg

Question Number : 192 Question Id : 54592750896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The type of curriculum planned for a specific population of
students by experts, who are legally appointed from outside
the educational institution, i1s known as a:

Options:

1. v Societal curriculum

2. » Institutional curriculum
3. = Instructional curriculum
4. = Null curriculum

Question Number : 192 Question Id : 54592750896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATeTsh TEATT & Fel ¥ Togera [hY a0 f9RIv=AT 2arT ol &
Teh [afeee 97 & folv aioa 9oashd IR sl 4T Hal
ST 87

Options:
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Question Number : 193 Question Id : 54592750897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a teacher-centered method in the
learning process?

Options:

1. = Care plan

2. = Care study

3. v Demonstration
4. = Role play

Question Number : 193 Question Id : 54592750897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et T UlshaT H, Tl A & Sia-8l, Teh RI&Th-higd AT
&7

Options:

1. = SEHTS Alolall
2. % ST 3TeTTA
3. v vgeld Jrfafafe
4. = gIATmd Irfarafer

Question Number : 194 Question Id : 54592750898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The planning concerned with actual delivery of a service to
the community is:

Options:
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A,

1. = Directional planning

2. » Administrative planning

3. v Operational planning

4. = Both, directional and administrative planning

Question Number : 194 Question Id : 54592750898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fROT AT & Tolv, fohdT daT & aedids &7 H & & aiad

ASTT FAT FEolldrl &7

Options:

1. % TeolTcHs Traldl

2. % YRR AToTall

3. v g IISTar
4. = gial, TSemcAs 3 gemdfas Iiete

Question Number : 195 Question Id : 54592750899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘System 4’ approach to organisational development was
advocated by:

Options:

1. = Chris Argyris

2. v Rensis Likert

3. *» Douglas McGregor
4. » Herbert Simon

Question Number : 195 Question Id : 54592750899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TISecHS AR & [OIT 'WuTrelr 4' 3 TISehIuT HT ThTeld
(98T GALA) Tohdeh g@RT T arg o1

Options:
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Ao
1. » Topg 3PN

2. v AT o+

3. = ST HRdPN

4. = EEC TATSH

Question Number : 196 Question Id : 54592750900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘want book method’ in an inventory is also called:

Options:

1. v Intuitive method
2. = Perpetual method
3. = ABC method

4. » VED method

Question Number : 196 Question Id : 54592750900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gedel H 'TlC Foh AYS' F AT F9 A7 @ a7 ST 87

Options:

1. v gt &
2. » Tolcg fafer
3. = ABC faf&r
4, « VED fafer

Question Number : 197 Question 1d : 54592750901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The duration of the fourth Five-Year Plan in India was from:

Options:

1. » 1966-1971
2. % 1967-1972
3. * 1968-1973
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A,
4.+ 1969-1974

Question Number : 197 Question 1d : 54592750901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR H It goasiT IMSTeT T gt a7 of1?

Options:

1. = 1966-19/1
2. = 196/7-1972
3. = 1968-1973
4. v 1969-19/4

Question Number : 198 Question 1d : 54592750902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The extent to which a measuring instrument provides
adequate coverage of the topic under study is called:

Options:

1. = Concurrent validity

2. » Construct validity

3. v Content validity

4. = Criterion-related validity

Question Number : 198 Question Id : 54592750902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI o 3HIId, 39 HIAT I FAT gl Sl g, S8l dok Teh
ATYeh 3URI0T AT halsl Felel Hdm &7

Options:

1. = FATAT JUAT
2. = forATor Serar
3. v HIHEIAT JUAT
4. » FAlAcS-FeadT IUdm
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A,

Question Number : 199 Question Id : 54592750903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Independent variables that are not related to the purpose of
the study, but may affect the dependent variable are termed
as:

Options:

1. = Confounding variables
2. v EXtraneous variables
3. = Discrete variables

4. = Continuous variables

Question Number : 199 Question Id : 54592750903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3o TTAT T HI FAT FET AT &, S ETTT & 32T &
gafaa ar g7 alad &, oiferel 3BT I 1 yala T Tha &7

Options:

1. % HHRIOT T

2. v §gd W

3. = 3Odd X

4., « Odd ™

Question Number : 200 Question 1d : 54592750904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Probability sampling is also known as:

Options:

1. ¥ Random sampling

2. = Purposive sampling
3. # Judgement sampling
4. = (Juota sampling

Question Number : 200 Question Id : 54592750904 Question Type: MCQ Option Shuffling: Yes
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A,

Correct Marks: 1 Wrong Marks: 0.25

AT Uiaadd sl AT fofg 10 & ST AT 87

Options:

1. v AEEF UTa<ad4

2. = TR Uiadde
3. » Tade geFAdr viaaad

4. = RIGAEEICHS Yia<ad4
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